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Question Number : 1 Question Id : 97675525259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After arranging the given words according to dictionary order, which word will come at ‘fifth” position?
1. SOVIET

2. SOONER

3. SOLELY

4. SOUGHT

5. SOCCER

Options :

1. ¥ SOLELY
2. % SOUGHT
3. % SOONER
4. ¥ SOVIET



Question Number : 1 Question Id : 97675525259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7Y Treq] B TGV & SHTIR HARIT HR & UHTA, B AT g “UiHa” R TR ST
1. SOVIET

2. SOONER

3. SOLELY

4. SOUGHT
5. SOCCER

Options :

1. * SOLELY
2. % SOUGHT
3. * SOONER
4. ¥ SOVIET

Question Number : 2 Question Id : 97675525260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
RTC, OOV, LJO, IFH, FZA

Options :
1. ®* OOV
2. ¥ IFH
3. ®* FZA
4. = LJO

Question Number : 2 Question Id : 97675525260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 foar T B, Ford ¥ U ug 7T ¢ | faU 7Y fawed! & 9 39 7Tad g & gHu|
RTC, OOV, LJO, IFH, FZA

Options :



1. ®* OOV
2. ¥ IFH
3. ® FZA
4. % LJO

Question Number : 3 Question Id : 97675525261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
SF5, VM12, YT19, BA26, ?

Options :

1. ¥ EG37
2. % EH33
3. % HE34
4. % FH35

Question Number : 3 Question Id : 97675525261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R A U Ue g B Fu T et A & o8 U8 Rehed g, S g B R AR

SF5, VM12, YT19, BA26, ?
Options :

1. ¥ EG37

2. % EH33

3. % HE34

4. % FH35

Question Number : 4 Question Id : 97675525262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
JF15,HZ29, FT57, DN113, ?



Options :

1. # HB275
2. % BH225
3. ® CH220
4. % BG227

Question Number : 4 Question Id : 97675525262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T ], ford @ v ue g g | iU U fawed! & 3§ 98 Wt fadwen gig, St 3rgehd &l [T |

JF15, HZ29, FT57, DN113, ?
Options :

1. ¥ HB275

2. % BH225

3. * CH220

4. = BG227

Question Number : 5 Question Id : 97675525263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related words from the given alternatives.
Nest : Bird :: Den : ?

Options :
1. * Dog
2. # Rat
3. * Monkey
4.+ Lion

Question Number : 5 Question Id : 97675525263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o fau e fawed & ¥ efia wsg! &) gt



m:q&ﬂ::ﬂlﬂ:?
Options :
1. * ol
2. % gl
3. % §Q
4. ¢ g

Question Number : 6 Question Id : 97675525264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
MOIN : NLJK :: GRAB : ?

Options :

1. ¥ HPBY
2. ¥ HOBY
3. % HPZY
4, ¥ HOZY

Question Number : 6 Question Id : 97675525264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & fiu e faweal & § Hefda sierf &1 gfu|
MOIN : NLJK :: GRAB : ?

Options :

1. ®# HPBY

2. ¥ HOBY

3. ¥ HPZY

4. ¥ HOZY

Question Number : 7 Question Id : 97675525265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related letters from the given alternatives.
PART : OMXM :: GLAM : ?

Options :

1. # HVID
2. % HVID
3. ¥ HUID
4. ¥ HVIE

Question Number : 7 Question Id : 97675525265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafeRad vy @ fau e famedl O @ Tefid sierl & gl
PART : OMXM :: GLAM : ?

Options :

1. ®* HVID

2. ¥ HVID

3. ¥ HUID

4. % HVIE

Question Number : 8 Question Id : 97675525266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
PING : PZVZ :: GIRT : ?

Options :

1. ¥ HYYM
2. % GZYN
3. % HZYM
4. ¥ GZZM

Question Number : 8 Question Id : 97675525266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & fiiu e faweal & § Hafda sieri & gfu|
PING : PZVZ :: GIRT : ?

Options :

1. * HYYM

2. % GZYN

3. ®* HZYM

4. ¥ GZZM

Question Number : 9 Question Id : 97675525267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘I like you’ is written as ‘9 3 7°, “You are good’ is written as ‘2 4 9°, ‘Rama like tea’ is written as ‘5 7 8°, ‘Tea is
good’ is written as ‘6 5 2°. What is the code for ‘is are’ in that code language?

Options :
1.% 62
2.% 54
3.964
4. % 69

Question Number : 9 Question Id : 97675525267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁmm 'J-HEITﬁ, ‘T like you’ P93 7 %I@T\_Yﬂ?ﬂ%, “You are good’ P 249 %I@TG’IT‘IT%, ‘Rama like tea’ &1 57 8 %@TW%,
‘Tea is good’ 652 %ETGW%I ?E{ﬁ‘s’lrrmff ‘is are’ WWW%?

Options :

I.#% 62

2. % 54

3.964

4. % 69

Question Number : 10 Question Id : 97675525268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FARM’ is written as ‘38, ‘GUYS’ is written as 72°. What is the code for ‘HOST’ in that code language?
Options :

1. * 74

2.¥ 62

3. % 66

4. % 72

Question Number : 10 Question Id : 97675525268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Ble YW H, ‘FARM® HI 38 ARG ST &, “GUYS’ B <72 a1 STl 81 $9 IS U H ‘HOST® 1 HIS &1 57
Options :

1. % 74

2.9 62

3. % 66

4. % 72

Question Number : 11 Question Id : 97675525269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘LACK’ is written as ‘9°, ‘MIND’ is written as ‘4’. What is the code for ‘ONLY’ in that code language?
Options :

1.¥ 12

2.%9

3.% 8

4. % 7

Question Number : 11 Question Id : 97675525269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U fafy Sig HIWT H, <LACK’ 1 <9 foRaT ST 8, “MIND’ &Y <4 fora ST 81 39 g HTWT H ‘ONLY” BT IS T 82
Options :

1.¥ 12

2. %9

3. %8

4. % 7

Question Number : 12 Question Id : 97675525270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RELY” is written as ‘48°, ‘SAME’ is written as ‘70’. What is the code for ‘TASK” in that code language?
Options :

1. % 64

2.9 57

3. %75

4. % 47

Question Number : 12 Question Id : 97675525270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1e Ble YW &, ‘RELY” P <48 feraT STl &, “SAME’ &1 +70° FoRa ST 1 39 BIS HINT H “TASK’ 1 IS HT 57
Options :

1. ® 64

2.9 57

3. %75

4. = 47

Question Number : 13 Question Id : 97675525271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MARKET” is written as ‘MZHYFP’, ‘NATURE’ is written as ‘XMRAFQ’. What is the code for ‘PLACED’ in that
code language?



Options :

1. # UBAHSQ
2. ¥ WZZHQS
3. % WZZGQS
4. # UDAGQS

Question Number : 13 Question Id : 97675525271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy ®Ig UMW H, ‘MARKET’ &1 ‘MZHYFP* foRal ST 8, ‘NATURE’ 1 *XMRAFQ’ forRaT SITdT 81 9 SIS HTWT H PLACED’ I
DI HTB?

Options :

1. ®# UBAHSQ

2. ¥ WZZHQS

3. % WZZGQS

4. ® UDAGQS

Question Number : 14 Question Id : 97675525272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S persons A, B, C, D and E are sitting around a circular table facing towards the centre (not necessarily in the same order). A is to the immediate
left of B. D is third to the right of B. C is not to the immediate left of E.
How many persons are sitting between B and E (in clockwise direction from E)?

Options :
1. %3
2. %2
3. % 1
4. ¥ 0

Question Number : 14 Question Id : 97675525272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



5T A, B, C, D TUTE &g B 3R J& B Th JAIDBR 7ol & 56 — F1E 96 §UT (SF ol B1 3 HHA BN A, B b J¥d 9T 3R 3
D, B & gl SR ARRI 1 C, E & q¥d ot 3R 181 g

B YT E & A% fhd aufad 96 gU ' (€ I Sfomad fa=zm &)

Options :

1. %3

2. %2

3.% 1

4.40

Question Number : 15 Question Id : 97675525273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boys P, Q, R, S, T and V wear one shirt among six shirts A, B, C, D, E and F (not necessarily in the same order). No two boys wear same
shirt. Q wears A. P don’t wear C and E. V wears F. Neither S nor R wears E. S wears C.

Which of the following statement(s) is/are correct?

I. P can wear either B or D

II. T wears E

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 15 Question Id : 97675525273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B ASH P, Q,R, S, TAUTV @: HHIS A, B, C, D, E dUI F & ¥ T HHIW Uga ¢ (G 18I pl e pa A B | 12 4 &) e g0
HUIS T Ugd 31 Q, AUSHdI 8| P, CAYUTE Tl Ug-IdT g1 V, FUgdI 8| Ml S &I R, EUgaT g1 S, C Ug-al g |

Profifed & ¥ 5 91/ 3 98l 2/8?

L PITA B IT D U Ybdl o

IL T, E Ugdl g

Options :

1. % BHad |




2. % Had Il
3.« 1 QYT I Sl
4. % qIEITAIB I

Question Number : 16 Question Id : 97675525274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Height of 7 boys B1, B2, B3, B4, B5, B6 and B7 is compared. Height of B1 is less than minimum four boys. Height of B5 is more than B6 but
less than B2 and B3. Height of B7 is more than minimum 5 boys.

If the height of no boy is less than B4 and B1 both, then which of the following can be correct about the sequence of their heights?
[.B4=B1=B6<B5<B2<B3<B7

II. Bl =B4 <B6 <B5<B2<B7<B3

III. B4=B1 <B6 <B5 <B3 <B2=B7

Options :

1. # IIand III
2. % Tand II

3. % Tand III

4. 1,11 and 11T

Question Number : 16 Question Id : 97675525274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 @SHI B1, B2, B3, B4, BS, B6 TYUT B7 ®1 &AT8 &I -1 &I T 8| Bl Bt SdTs HH U HH IR ASH| U HH g | BS B GHdls B6 J S
& AfP-1 B2 TUTB3 Y HHA G| B7 Bl SR HH Y HH 5 AgH! I 31fH B

gfe fpdt ot et @1 Sa1s B4 TUTB1 GHI A HH 7181 8, Al 3P SaTdl & IHhH & IR § Ffaled 9 &9 3 U8 81 9&dl g2

[. B4=B1=B6<B5<B2<B3<B7
II.B1=B4<B6<B5<B2<B7<B3
[II.B4=B1 <B6<B5<B3<B2=B7

Options :

1. ® I dYUTIII
2. % 14dYTII

3. % 1dYUT I
4.« 111 dYTIII




Question Number : 17 Question Id : 97675525275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven friends A, B, C, D, E, F and G lives on 7 floors of a building. No two friends live on same floor. Lowermost floor is numbered as 1, then 2
is just above 1 and so on till 7 which is the uppermost floor. G lives on a even numbered floor. F lives just above C and just below E. F does not
live on a even numbered floor. Only 4 friends live between G and B.

If F lives above B, then which of the following statement is not correct?

Options :

1. * Only G lives between A and D

2. % Maximum 4 friends can live between C and A
3. ¥ C lives just above B

4. % Only one friend lives between E and B

Question Number : 17 Question Id : 97675525275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iid ffF A, B, C, D, E, F @Y1 G U SHRA &t 7 e )R I8 ¢ | P o &) o gume dfta R Y Yed & | 9a) = arelt afia &) 9@ 1
2, fhR 2, 1 & 31P W & U U UPR 7 db & SNiPp o SHUR arci! Hiod g1 G TH J-AT dTeht AT TR IGAT ]| F, C P 31 HUR dUTE
& 3P K IgaT g | F gH BT aTeh Wit IR Tl TgaT 8| G U1 B & AL 6dd 4 I @A 7

Ife F, B » SR gdl 8, dl Fafifad & 3 & a1 sy ugt 781 22

Options :

1. % ATUTD S AT Had G IgdT 8

2. % CAUTA S A 3Afpad 4 I @ AP B

3. % C,BP b SWIEdl &

4. ¥ E QYT B & AY Had U B35 Igdl §

Question Number : 18 Question Id : 97675525276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Marks of 8 girls F, G, H, J, K, L, M and N are compared. No two girls got same marks. Marks of K are more than only F. Marks of G, H and J are

more than L but less than N. Marks of M are less than maximum one girl.
Which of the following statement(s) is/are correct?



I. Total 12 different sequence of their marks are possible
II. Marks of N can be more than M
1. Marks of 4 girls can be less than G

Options :

1. * Il and III
2. % Only II

3. % Tand II
4.+ 1, 11 and III

Question Number : 18 Question Id : 97675525276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 ASfHATF, G, H, J, K, L, M AUTN & 3| B ga-1 &1 T g1 Pl 1} §F il & THM 3ic 78! fd §1 K & 3id Hhad F ¥ 3P 7
G, HTAUT) & 3P L Y AP & APTINIFATI M & 3ich eI T 1e] U dsHh! S HH B

fafafed & 9 o 973 HuT I8 8782

1. 3% 3! & o 12 fafid s a dya g

I N & 3ip M ¥ 31 8 Ihd &

111 4 ASfHal P 3i%p G T HH I Ihd §

Options :

1. % I dYUTIII
2. % Had II
3.% 1dUTII

4. 1 11 dYT I

Question Number : 19 Question Id : 97675525277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All A are S.

II. No T is S.

Conclusions:



I. Some S are not T.
II. No T is A.

Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. ¥ All conclusions follow

4. % Neither conclusion follows

Question Number : 19 Question Id : 97675525277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § | 3T T 1 & 981 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g

HY:

LI A, S B

L3 Wi T, s TR I

frep:

. s Tel gl
il.%%lﬁTT,A:l%pf%l

Options :

1. % Had FpY | SFIER0T el §

2. % Had BN I1 SR Hl §

3. ¢ Tt o SR v §

4. % I U FTHY SR T8I HraT §

Question Number : 20 Question Id : 97675525278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All Q are P.

II. Some M are Q.



Conclusions:

I. Some P are M.

II. Some M are not Q.
III. All M are P.

Options :

1. # Only conclusion II follows
2. % Only conclusion I follows
3. # All conclusion follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 97675525278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 53 HYT 3R I §Ie 3 HYA W 3NURd $3 Fpy 3T 7w 7| fou Ty &1 I8 7E, TR S 9 91d )
I i 811§ e U SR iR Freifa &% 1o 3T e o @ feepd, 3T 7T o & 3R R gfaaed g

DHY-:

I.ﬂlﬁQ,P%%

I.$8 M, Q%I

fean:

LPSP, MBI

1. $3 M, Q T8l gl

1L 3t M, P& |

Options :

1. % Had FpY 1 SR BT §

2. ¢ Had I=pY | STERUI IRAT S

3. % gt Fpy SFERU v §

4. % Dz W} FIoHY SR 8 dRT §

General Ability2
Group Number : 2
Group Id : 976755933

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 9767551363

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551592

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675525279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All red are bat.

I1. All ball are bat.

III. Some ball are key.

Conclusions:

I. Some red are key.

II. Some ball are red.

II1. Some bat are not red.



Options :

1. ¥ Neither conclusion follows

2. % Both conclusion II and III follows
3. % Both conclusion I and II follows

4. % All conclusion follows

Question Number : 21 Question Id : 97675525279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR AUNRG & 56y 3T T4 § | 3T T 2= &1 981 A, 918 S8 Qg 1 9
3 forzrar g1t e o ofk fisR e &% i fou o o @ s, fou U sy & smyR &R gfaasa g
HY:

L. gt 99 S ] |

H.Hlﬁﬁ%cz_a%%%

. $F |

Ty

[. $ Ard 316 g

. $S g adag|

1. $ To0 AT T8 8 |

Options :

1. ¢ @3 U ISy SRR T8 Hra1 §

2. % QI FISHY I TUT 111 3IIERU Hd §
3. % G (ShY [ T 11 SFJAR0T 6’ &

4. % i} Fpy SFRRUT %l §

Question Number : 22 Question Id : 97675525280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some K are M.



II. Some M are G.

III. Some F are M.
Conclusions:

I. No Gis K.

II. No F is G.

III. Some F are not K.

Options :

1. #® Both conclusion II and III follows
2. % All conclusion follows

3. # Only conclusion II follows

4. ¥ Neither conclusion follows

Question Number : 22 Question Id : 97675525280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR YRG5 56y 3T T4 § | 3T T H= &1 981 A, 918 S8 Qg 1 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g
HY-:

LPSK MBI

II.WM,G%I

L. $SF, M3

fsen:

L 3% G KT B

1. B HF, G T8 B

1. $S F, K T8l g

Options :

1. % QIFI FTSBY 11 T 111 SR & &
2. % it Frsh s SFRRUT Rl §

3. % Had fpY 11 IR FRl §

4. Dis W FIopy SR T R §

Question Number : 23 Question Id : 97675525281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. NoJisR.

II. Some A are F.

III. Some R are A.

Conclusions:

I. Some F are R.

II. Some R are not J.

III. Some F are A.

Options :

1. # Both conclusion I and II follows
2. ¥ Both conclusions II and III follow
3. # Neither conclusion follows

4. % All conclusion follow

Question Number : 23 Question Id : 97675525281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR STUING & 56y 3T T4 § | 3T 7T H=1 & 91 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa &% i fou o o 3 s, fou e syl & smuR &R gfaasa g

DHY-:

L. Prs W, R TR B
II.WA,F%'%L

L $BR, A Bl
fep:

L. $SF,REI

ILHSR, IR &I

L. $SF,ARI

Options :

1. % QI FT5BY [ T 11 3FIERU $H1d §

2. ¢ QI FISam S 11 T 111 SR 6% &
3. % I3 Wt Fepy SR 78 ST §




4. % Juft Frepef S RO A §

Question Number : 24 Question Id : 97675525282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related number from the given alternatives.
376 :736::794 : ?

Options :
1. % 979
2. % 975
3.¥ 974
4. % 976

Question Number : 24 Question Id : 97675525282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad uy o fau e faw el & O Yefda T &1 gl
376 : 736 :: 794 : ?

Options :

1. % 979

2. % 975

3.¥ 974

4. % 976

Question Number : 25 Question Id : 97675525283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
22,11,7,44,77, 121

Options :
1. % 35
2.9 33



3. % 37
4. % 39

Question Number : 25 Question Id : 97675525283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we o < 715 e & ¥ g $i 1d Pt |
22,11,7,44,77, 121

Options :

1. % 35

2.9 33

3. % 37

4. % 39

Question Number : 26 Question Id : 97675525284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “+’ means ‘+’, ‘=’ means ‘+’, ‘X’ means ‘-’ and ‘-’ means ‘X’, then which of the following equation is true?
Options :

1. % 15+45-5+3<25+75+25

2.9 18+32-3x13>92+23-7

3.%57+19-6>7-18x19+21

4. % 78 +13+16x15>11+32+8

Question Number : 26 Question Id : 97675525284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G+ BT 3RE <+ | o+ BT 3RE -+, o BT 3 > quT — BT 3 0 JY, Al FmfoRad o § o1 a1 wHfievur el 62
Options :

l.% 15+45-5+3<25+75+25

2.9 18+32-3%x13>92+23-7

3.% 57+19-6>7—-18x 19+ 21



4. % 78+ 13+16x15>11+32+8

Question Number : 27 Question Id : 97675525285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
910, 908, 900, 868, 750, 228

Options :
1. % 228
2. % 900
3. ¥ 750
4. % 868

Question Number : 27 Question Id : 97675525285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd far man ], for e § v e 7Tad g | fou e faswent §f ¥ 39 ed ug & gHu|

910, 908, 900, 868, 750, 228
Options :
1. % 228
2. % 900
3. ¥ 750
4. % 868

Question Number : 28 Question Id : 97675525286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Red, White, Colour

Options :



@D
(0)o

Question Number : 28 Question Id : 97675525286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 3G AT ot i w7 anif & offa & Tey o1 T ey Hrar g |
Options :



1. ¢

2. %

® @] ©

g

Question Number : 29 Question Id : 97675525287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many shirt are black and trouser both?



16 b— Trouser

g |~ Black

11 |14 12 | 3

/|15

Shirt

Options :
1.¥ 12
2. % 26
3. % 15
4. % 17

Question Number : 29 Question Id : 97675525287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for e ST BTl aUT I Gl 82

16

hd o

11 |14 12 | 3




Options :
1.¥ 12
2. % 26
3. % 15
4. % 17

Question Number : 30 Question Id : 97675525288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is not correct?

Orange

\

Red 14 10

16
13 16 11 }

White

Options :

1. ¥ Number of white which are only orange are 10
2. % Total number of orange are 51

3. ¥ Number of red which are not orange are 22

4. ¥ Number of orange which are white and red both are 13

Question Number : 30 Question Id : 97675525288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 10 3 3@ o MR W, FAfiRad # 9 1< 1 Y= Wel el o2



G| 14 10
16
13 16 3 }
\ a1
THT

Options :

1. % 98 e S Had Tl &, BI TWAT 10 §

2. % I B HA GBAT51 §

3. % 98 AT off Gil 81 8, bt TJT 22 §

4. ¢ 98 TaI Sl Tlhe qUT 1l &Il &, &1 TS 13 8

Question Number : 31 Question Id : 97675525289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is not correct?

= \ i

\ 11

10 13 13
18

™

A4 16 |3\

Apple 5

Potato




Options :

1. #® Total number of apple are 54

2. % Number of potato which are apple are 34

3. % Number of belt which are atleast potato are 27

4. ¥ Number of apple which are neither potato nor belt are 7

Question Number : 31 Question Id : 97675525289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& U 9 3T & SMYR IR, FoferiRed & ¥ & 91 hy I8! Tl 82

&

NN d
R

10 13 13

s

A4 16 |3\
5

Options :

. % Je D HA AT 54 8

2. % GG MY SN AT §, DI GBAT34 8

3. ¢ 98 9T Ol HH U HH ATl §, B - 27 §
4. % GE UG N AT 8T 3T g AT 81 dec &, DI AT 7 §

e

Question Number : 32 Question Id : 97675525290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?



I. Number of cup which are neither round nor plate are 13.
II. Total number of plate are 42.

Round

Plate

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 32 Question Id : 97675525290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa8 U 39 3 & MYR R, FAufeiRad # ¥ &9 /A HYU- I8! 8/8?
LI PYNATE MA S T8l W 8, Bl 3T 13 &

II. @ & $d G142 B |




Options :

1. % Had 1
2. % Had I
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 33 Question Id : 97675525291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

AJK Al N A MN
N K[[M /s
N M M K KJTA
Options :
N M
A
| % K J




MN
A
2w ke
MN
A
J K
3. %
M N
A
A ]
4, %

Question Number : 33 Question Id : 97675525291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeiRad vy @ fau T fosedl O 9 Uy fag (2) & RIM R 3 arelt 3HThfd &1 gl

AJK Al N A MN
N K M J ?
N M M K KI1A
Options :
N M
A
1. % L




M N
A
2. v el
M N
A
J K
3. %
M N
A
A ]
4. %

Question Number : 34 Question Id : 97675525292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

alb o bla o0 o o

o) . ofol (O o ?
X X Vile

Options :

<|0f<
Qlo




g1 P
OO

2. ¢ M
P19
oo

3 % LM
P19
u

s n LM

Question Number : 34 Question Id : 97675525292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

(1) P ST 3R <1 eft & aepfoal farelt adh/ Moy ¥ Sefia 71l T fadedl # 9 () & SriY SR THM db /Mo ey W sramid
q Mpa B g

alb -] baoopq o
o) , tefol 1O o s
X X M] -
Options :
q| P
njKe
M




qaip
OO0

2. ¢ M
P14
0o

3 % LM
P14
O

s n LM

Question Number : 35 Question Id : 97675525293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd figure from the given alternatives.

Options :
K 2 G
" 9]
WL AR




F 1 E
DO E
L€ MM
B g D
K d
LA e s
JoU L
X

.x|Z 3 E

Question Number : 35 Question Id : 97675525293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa uy &, fau T fdewedl & 9 favm siefa &1 9Ty

Options :
K A G
J 9]
LWL R




F 1 E
D E
L€ MM
B d D
K d
LA 2 s
I T L
S

.«|Z 3 E

Question Number : 36 Question Id : 97675525294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

P Q Q UVW
R||U T 7
sl1iT SRS

Options :



TUV
W
LLFX
TUV
W
XY
T U
W

3.¢ X
UV

W

L LY X

Question Number : 36 Question Id : 97675525294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafeRad vy @ fau e fawedl O 9 Uy fg (2) & RIM R 3 drelt 3Hihfd &1 gl



P Q Q UVW
R||U T ?
SIIT S RJ|S
Options :
TUYV
W
X ok
1. %
TUYV
\"%
A ¥
2. ®
TUYV
"\
X
3. ¢
uv
W
X X
4. %

Question Number : 37 Question Id : 97675525295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?

Options :
1. %3
2.¥ 4
3.%5
4. % 6

Question Number : 37 Question Id : 97675525295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7T S far H farer Agi 22

Options :
1. %3
2.¥ 4
3.%5
4. % 6



Question Number : 38 Question Id : 97675525296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After folding the given paper, which of the following cube cannot be formed?

719|B
3 12 |.H

Options :



<>

Question Number : 38 Question Id : 97675525296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 T BT Y e & ugTd, FufeiRad & J S 91 °4 T8t 9911 S IhdT 82

T 9B
Sl e 8

Options :



Question Number : 39 Question Id : 97675525297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

&

Q> a
A B
Options :
glpv
A




3.¢¥

Question Number : 39 Question Id : 97675525297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T YT T AB AT TR T ST, Al & T8 ST MH Tl H F B Y 1epfa Uy Sepfa o1 Tgt ufafad grfte

v

Ol a

ATTTTTTRSYT B

Options :



Question Number : 40 Question Id : 97675525298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?



Options :

.« Lo _©

Question Number : 40 Question Id : 97675525298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T & Ty SH Tl | fCETT SFAR TS & AISHR wa- aul Wi & a6 98 [y SR TP o @ g

SR E

Options :
8,
.
s
. Dlt_)'l péln
&0

N
Q__0Q
o] \qe

Lo L9 ©




Group Number :

Group Id :
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Group Minimum Duration :
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Edit Attended Group? :
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Group Marks :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
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Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 97675525299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the festival is associated with Bihar?

Options :
1. ® Chumpha

General Awarenessl

3
976755934

General Awarenessl

9767551364
1

Online
Mandatory
20

20

20

Yes

1
9767551593
Yes



2. * Khasi
3. * Bonalu
4. ¥ Madhushravani

Question Number : 41 Question Id : 97675525299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed & 9 o1 o1 IRR foer @ Wl &
Options :

1. % JHpI

2. % Gl

3. % §HIq

4. ¢ YUt

Question Number : 42 Question Id : 97675525300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Raigad Fort is located in which state?
Options :

1. % Rajasthan

2. % Uttar Pradesh

3. % Maharashtra

4. % Telangana

Question Number : 42 Question Id : 97675525300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e frar forg Iog A fRUa 82
Options :

1. % STRYTH

2. % IR UCH




3. ¥ HGRTY
4. % QAT

Question Number : 43 Question Id : 97675525301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Jogi Sarangi’ is related to which categeory of musical instrument?
Options :

1. # Aerophone

2. # Idiophone

3. % Chordophone

4. ¥ Membranophone

Question Number : 43 Question Id : 97675525301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St R e o 9 o 9ot & areds 9 el 2
Options :

1. * 9 dl<]

2. % 3MNId dIel

3. ¥ dRdIe

4. % gHS & AT

Question Number : 44 Question Id : 97675525302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Khazana Building Museum is located in

Options :

1. % New Delhi

2. % Hyderabad

3. % Aurangabad



4. % Mumbai

Question Number : 44 Question Id : 97675525302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G e TugTea 7 R
Options :

1. % 73 faeeft

2. ¥ BRMENG

3. % 3RS

4. % Gag

Question Number : 45 Question Id : 97675525303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of State — dance is NOT correct?
I. Gujarat - Tippani

II. Assam - Domkach

I11. Rajasthan - Khoria

Options :

1. ® Only II
2. % JTand II
3. % Il and III
4. % Only III

Question Number : 45 Question Id : 97675525303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I — I BT e # § o 91 3 981 761 82
1. ToRTd - feur

I1. 399 - SHHHT

11 ISR - |IRAT



Options :
1. % Bad II
2. % 14Tl

3.« [ dUT I
4. % Had 11

Question Number : 46 Question Id : 97675525304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an indirect tax?
Options :

1. % Wealth tax

2. % Income tax

3. % Estate duty

4. ¥ Custom duties

Question Number : 46 Question Id : 97675525304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 &F 91 U@ e o 82
Options :

1. ® HuRi R

2. % AP P

3. % gUqT Yeoh

4. ¢ G Yo

Question Number : 47 Question Id : 97675525305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an instrument of monetary policy of Reserve Bank of India?
I. Repo Rate



II. Currency Deposit Ratio
III. Liquidity Adjustment Facility

Options :

1. % Only II

2. % Tand III

3. ®% Il and III
4. % 1,11 and III

Question Number : 47 Question Id : 97675525305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ@@ﬁﬁﬁﬁqﬁwmﬁ%ﬁﬁ%ﬂﬁﬁwm%
LUl aY

1. TSI STHT 3uTd
I11. IS FHRAS gfaen

Options :

1. % ad II
2.9 1dYT 1T

3. % [ dUT I
4, % 1 11 dUTIII

Question Number : 48 Question Id : 97675525306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Personal Disposable income =

Options :

1. # Personal Income + Personal tax payments — Non-tax payments
2. % Personal Income + Personal tax payments + Non-tax payments
3. % Personal Income — Personal tax payments — Non-tax payments

4. ® Personal Income — Personal tax payments + Non-tax payments

Question Number : 48 Question Id : 97675525306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

JgfFIP YA 3T =

Options :

1. % QYfIh T + YT P ST — TRBR Tt
2. % Yfadh 3T + JTTGID B ST + TRB S
3.  Jufaae 37 - Jufade oY el - RS erft
4. % QUIIID 3T - JUfFID B MG + TRB SN

Question Number : 49 Question Id : 97675525307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding Consumer Price Index?
L. It is one of the ways to measure change of prices in an economy.
II. It is generally expressed in percentage terms

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor I

Question Number : 49 Question Id : 97675525307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IUHIaT HHd ab e & de # Fofafea # ¥ oH arug g2
1. U8 3faRT H S1Hdl & URddd & J1Y B 3t U A g
1. 39 UT9: Ufawid & U H ogad fhar Sar g |

Options :

1. % FHad |

2. % Had I

3. ¢ 1 UGl

4. % qEIIATR I




Question Number : 50 Question Id : 97675525308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Human Rights Commission (NHRC) of India was established on:
Options :

1. % 2 October

2. % 15 August

3. % 26 January

4. ¥ 12 October

Question Number : 50 Question Id : 97675525308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & AP AHATISHR SN (NHRC) B RITYT $d g5 A2
Options :

1. #® 2 3dgal}

2. % 15 3

3. % 26 SR

4. 12 IR

Question Number : 51 Question Id : 97675525309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which part of blood contains hemoglobin?
Options :

1. ¥ Red Blood Cells

2. # Platelets

3. % White Blood Cells

4. % Plasma

Question Number : 51 Question Id : 97675525309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Tad & fob 4T H SHNafeT gid1 82

Options :

1. TSl Yok DIRIBTY
2. % gfep]

3. % 9d Iad DIRABIY

4. % TATSHI

Question Number : 52 Question Id : 97675525310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Molecular mass of substance is sum of atomic mass of all the atoms in a molecule.
II. Number of moles = molar mass/given mass

III. Molar mass is number of moles present in 1 gram of substance.

Options :

1. % Only I

2. % Only I

3. % Only III
4, % 1, 1I and III

Question Number : 52 Question Id : 97675525310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9 & 91 HYF 981 82

1. Tt uerd &1 3nfiass sord Sue Tt Tace TRATS & GHHM! &1 I Idl |
1L Al 1 TS = AIeR Goadr/faar 11 geadq™

11 ATR SoqAH bt uerd & 1 I # vgd Al &1 ST gt g |

Options :

1. ¥ $had |

2. % Had Il




3. % Had Il

4. % LI dYTIII

Question Number : 53 Question Id : 97675525311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding stomach and digestion is correct?
I. Pancreatic juice contains trypsin.

II. Mucus protects inner lining of stomach from the action of the acid.

I11. Gastric glands are present in the walls of stomach.

Options :

1. #* TIand II

2. % Il and III
3. % land III

4. 1,11 and III

Question Number : 53 Question Id : 97675525311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SITHTRI TUT UTeH & deH B Fafafed o 9 &F 91 $3- 981 82

1. RIS [ | R gl g |

1. AT ORI & ToIsHT ST & 3idRer SRR B 3l H &/ BT 3|
111, Sig U, ey ot fufa o fud gkt 31

Options :

1. % IdYUTII

2. % [T dUT I

3. % [dYTIII

4. 111 dYTIII

Question Number : 54 Question Id : 97675525312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement regarding sound is correct?

I. Frequency is inversely proportional to time period.

II. Speed of sound in water > speed of sound in oxygen.

II1. The repeated reflection that results in persistence of sound is called echo.

Options :

l.¥ Tand II

2. % Il and III
3. # Iand III

4. % I, 1l and III

Question Number : 54 Question Id : 97675525312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & e & Fofoied & Q@ o 91wy I8t 72

I. 3G, STaT PIel &b HehHTIUI gl & |

1L g1 H g &t 91d > AT | g &t ard |

111. SRER WRIdd- oI SR taf-Fdey g1t 8, ufdea S g

Options :

1.¥ IdUl I

2. % I dYTIII
3. % 1dYTIII
4. % 1 11 dYTIII

Question Number : 55 Question Id : 97675525313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are also called Primary Rocks.

Options :

1. ¥ Igneous Rocks

2. % Metamorphic Rocks
3. # Sedimentary Rocks

4. % Tgneous and Sedimentary Rocks



Question Number : 55 Question Id : 97675525313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

) e A i ped B

Options :

1. ¥ ST A

2. % BTN /A

3. % X SaTe!

4. % STUY IUT A SIS

Question Number : 56 Question Id : 97675525314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of Non-Metallic mineral?
I. Limestone

II. Mica

II1. Gypsum

Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % 1, 1I and III

Question Number : 56 Question Id : 97675525314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad & ¥ o a1 3rufde TS &1 Th IR g?

L. ATIRR
1. 3YH

111, foreqs

Options :
1. % 14Ul



2. % I dYr
3. % [ dYTIII
4. 1, 11 dYTIII

Question Number : 57 Question Id : 97675525315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following energy is renewable?
I. Solar Energy
II. Tidal Energy

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 57 Question Id : 97675525315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fgfafed 3 3 oF W@ Sl Adieuia g2
I GRSt

I1. SaRI Sl

Options :

1. % Had I

2. % HAd Il

3. ¢ 1 AU Gl
4. % qEIIATE I

Question Number : 58 Question Id : 97675525316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following peak is not located in India?



Options :

1. # Kanchenjunga
2. # Nanga Parbat
3. ¥ Annapurna

4. % Kamet

Question Number : 58 Question Id : 97675525316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9 3 91 RreR HRa # fyd 781 52
Options :

1. % HoIoI

2. % 1 Udd

3. ¢ 3EYUI

4. % HHC

Question Number : 59 Question Id : 97675525317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as an Indo-European language?
I. Sanskrit
I1. Hindi

Options :

1. % Only I

2. % Only II

3. % Both IandII
4. ¥ Neither I nor II

Question Number : 59 Question Id : 97675525317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 ®F T I YR TR U1 URaR &1 fewn g2



L. 9&pd

1. fg=d!
Options :

1. ¢ $Had |
2. % Had Il

3. % [qUT I Sl
4. % ATBIIATSII

Question Number : 60 Question Id : 97675525318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Mohenjodaro is correct?
I. There was a great bath in Mohenjodaro.
II. There were room on all sides of great bath.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 60 Question Id : 97675525318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed 7 ¥ & 91 Y- digTeics! & Jau § I8! 82
1. AigTolige! § HgH WHRTR 1|

1. 7ET WHRTR & IR aR% HHL |

Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATR I
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Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
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Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
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Enable Mark as Answered Mark for Review and Clear Response :
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Question Shuffling Allowed :

Question Number : 61 Question Id : 97675525319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ruled in Delhi during 1236-40.

Options :
1. # Ghiyasuddin Balban

General Awareness2

4
976755935

General Awareness2

9767551365
1

Online
Mandatory
20

20

20

Yes

1
9767551594
Yes



2. % Qutbuddin Aybak
3. % Raziyya
4. # Shamsuddin Iltutmish

Question Number : 61 Question Id : 97675525319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 foweft 7 1236-40 P SR T far |

Options :

1. % TARGE M Jaad
2. % PE3eH UdD
3. ¢ o

4. % QAYE oA

Question Number : 62 Question Id : 97675525320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who constructed the first floor of Qutab Minar?
Options :

1. ¥ Qutabuddin Aybak

2. # Iltumish

3. % Bahlul Lodi

4. ¥ Alauddin Khalji

Question Number : 62 Question Id : 97675525320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pgs HHR Bt Ugd! Hiord fbee aars o
Options :

1. ¢ HEda U

2. % FogiHRT




3. % gIgqd arat
4. % A3 faaeh

Question Number : 63 Question Id : 97675525321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of Satnami Movement in India?
Options :

1. # Ishwarchandra Vidyasagar

2. ¥ Ghasidas

3. % Motilal Nehru

4. ¥ Mahatma Gandhi

Question Number : 63 Question Id : 97675525321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URA T Fa=THT 3HiGIer o1 Fo3d faree B2
Options :

1. % $eReg faemamR

2. ¢ UGN

3. % Ofiard 8w

4. % TETAT e

Question Number : 64 Question Id : 97675525322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tenzing Norgay Award is associated with which field?
Options :

1. ¥ Adventure

2. % Arts

3. ¥ Music



4. % Journalism

Question Number : 64 Question Id : 97675525322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHSRT 1T e R g & § Taftra 82
Options :

1. ¥ T8d®R

2. % odl

3. % gIid

4. % QABINCT

Question Number : 65 Question Id : 97675525323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Lessons Life Taught Me Unknowingly’ is an autobiography of

Options :

1. ¥ Venkaiah Naidu
2. % Manoj Kumar
3. ¥ Anupam Kher

4. % Viswanathan Anand

Question Number : 65 Question Id : 97675525323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AW Tl HY SIS B HTHABAT B |
Options :

1. % dohar g

2. % TS HUR

3. ¢ U ¥R

4. % fIYIY 3fic




Question Number : 66 Question Id : 97675525324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the recipients of Padma Vibhushan Award 2021?
Options :

1. # B.B. Lal

2. % P. V. Sindhu

3. % Shinzo Abe

4. % Sudarshan Sahoo

Question Number : 66 Question Id : 97675525324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafigd & ¥ &9 UaT fay¥or REER 2021 & Wddhd! & I TH 61 87
Options :

1. % . o &

2. ¢ Ol 41 Ry

3. % 1 3rmel

4, = ga&i:l NIN

Question Number : 67 Question Id : 97675525325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is true about Defence Research and Development Organisation?
L. It’s headquarter is located in Mumbai.
II. It carries a vision to empower India with cutting-edge defence technologies.

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II



Question Number : 67 Question Id : 97675525325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& ST T4 fAdhT W1e & aR & Fafeied & 9 &F 1 &3 el 82

. 3T ATy Has § A ]

1. Hgaquf I& 3R yonfer 7 eAf+Rar g1iet e & o YR ) g=1ad 991 & forg uep = T@ar 71
Options :

1. % Had 1

2. ¥ Had Il

3. % 1YT I gl

4. % AIGIATRII

Question Number : 68 Question Id : 97675525326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DEFENDER Europe 21 military exercise is being held in
Options :

1. ¥ Armenia
2. ¥ Albania
3. % Cyprus
4. % Malta

Question Number : 68 Question Id : 97675525326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEtrer TR 21 =7 3Ty o maIfTd frar S TeT 8|
Options :

1. % S

2. 3{cdT=Al

3. % IRUN

4. % Hlel




Question Number : 69 Question Id : 97675525327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has launched mobile application 'Satark Nagrik'.

Options :

1. # Delhi

2. % Mabharashtra

3. % Jammu and Kashmir
4. % Puducherry

Question Number : 69 Question Id : 97675525327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AlTSd TIPSR Fdd ARG Al fhar g |

Options :

1. % foedl

2. % HERIY

3. ¢ S 3R HRUR
4. % qg=id]

Question Number : 70 Question Id : 97675525328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a winner of 2021 International Ranger Award?
Options :

1. ¥ Jang Cho

2. % Mabhindra Giri

3. # Sathish Sundaram

4. # Ninfa Carianil



Question Number : 70 Question Id : 97675525328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIRad & I DI 2021 AR SoR TS P [qoidl 7ol 87
Options :

1. ¢ STl

2. % Hige Y

3. % AR Yoy

4. % (1 piafa

Question Number : 71 Question Id : 97675525329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been honoured by the 27th Annual Crystal Award for raising mental health awareness?
Options :

1. ¥ Sir David Adjaye

2. % Theaster Gates

3. # Schwab Foundation

4. # Jin Xing

Question Number : 71 Question Id : 97675525329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS WA SR 96 & 18 27 d a1 fheed RepR ¥ ford qeTid fava T g2
Options :

1. ¥ W Sfds Teul

2. % TR Y

3. % YId BRISTH

4. % T i

Question Number : 72 Question Id : 97675525330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

On which technology does FASTag for toll collection works?
Options :

1. # Wireless Frequency Identification

2. # Ultrasound

3. % Radio Frequency Identification

4. # Artificial Intelligence

Question Number : 72 Question Id : 97675525330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<1l U8 BT & foTT FASTag b Tebiich TR T el &2
Options :

1. % gRRY Wiyl amssfefthar

2. % CSS

3. ¢ SN e Mg Sfeftherr

4. % IféfpRrd $eforela

Question Number : 73 Question Id : 97675525331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which schedule of the Indian constitution deals with forms of Oaths or Affirmations?
Options :

1. # First

2. % Third

3. % Fifth

4. # Sixth

Question Number : 73 Question Id : 97675525331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR AAUH BT B I S 9 T YA & Ty 3§ e g2
Options :

1. % ggdl

2. ¢ AR

3. % Oradt

4. % Bl

Question Number : 74 Question Id : 97675525332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Article 16 of the Indian constitution deals with
Options :

1. * Abolition of Untouchability

2. % Equality before law

3. ¥ Equality of opportunity in matters of public employment
4. % Abolition of titles

Question Number : 74 Question Id : 97675525332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRATT TfIU™ &1 3 < 16 RREREE
Options :

1. % XYY & 3id

2. % fafr & e FHM

3. ¢TI (AT o faoa § 3{aER B GHI]

4. % JUTT T 3id

Question Number : 75 Question Id : 97675525333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following subjects are mentioned in the concurrent list of the Indian constitution?
I. Trust and Trustees



II. Actionable Wrongs
III. Forests

Options :

1. # Tand II

2. % Il and III
3. % TandIII

4. % [, 1I and III

Question Number : 75 Question Id : 97675525333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o ¥ fawdl &1 aufH YRt dfaum & goadf = & 82
1. 1 3R =gt

I1. 33T g

1. 94

Options :

1. % 14Ul

2. % IIdYTIIn
3. % [dYUTII

4, 1, I dYTIII

Question Number : 76 Question Id : 97675525334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Eligibility for election of Vice President is correct?
I. He has completed the age of thirty five years.
II. He is Qualified for election as a member of the council of states.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II



Question Number : 76 Question Id : 97675525334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et o usar & aR § fAyfeiad 7 @ &9 91 Hy= T8 32
1. 98 U a8 &1 S T R g1 81|
I1. 98 T JHT &1 Ie faffad 81 & fam sifiga g1

Options :

1. % PHadl

2. % dhad Il

3. QYT I gl
4. % 1A

Question Number : 77 Question Id : 97675525335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Eighty sixth amendment of the Indian constitution took place?
Options :

1. ¥ 2002

2. % 2000

3. % 1998

4. % 2005

Question Number : 77 Question Id : 97675525335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTT Ty o fardtar (86th) FauTe Tied fog au o garm ur
Options :

1. % 2002

2. % 2000

3. % 1998

4. % 2005



Question Number : 78 Question Id : 97675525336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many total medals did India win at the 2018 Asian Games?
Options :

1. ® 56

2. % 61

3.9 69

4. % 78

Question Number : 78 Question Id : 97675525336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 TRMARE Wal # YR A $d fba- Uad oiid?
Options :

1. # 56

2. % 61

3. ¥ 69

4. % 78

Question Number : 79 Question Id : 97675525337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of sports tournament — sport is correct?
I. Davis Cup — Table Tennis
II. Fed Cup — Tennis

Options :

1. * OnlyI

2.9 Only II

3. % BothIandII
4. # Neither I nor II



Question Number : 79 Question Id : 97675525337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qe Ui - A o1 FafeRad & 9 o 91 3w I8 82
1. Sfa¥ U - ead ¢

I1. B8 &Y - g

Options :

1. % Bad 1

2. ¥ bad Il

3. % 1T Gl

4. % GG

Question Number : 80 Question Id : 97675525338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a sport of Summer Olympics?
I. Handball

II. Gymnastics Artistic

1. Surfing

Options :

1. * Tand II

2. % Iland III
3. % land III

4.+ 1,1 and 111

Question Number : 80 Question Id : 97675525338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & 3 oF 971 e 3Nt o1 ad 82
1.

11. ey nféfes

111, Tt



Options :

.= Iddl

2. % I dYTIII
3. % TdYT I
4, 1, I dYTIII

Arithmetic Abilityl

Group Number : 5

Group Id : 976755936
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 9767551366
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551595

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 97675525339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3630 + E><i+3+E
7 22 11 22

What is the value of ?
Options :
1. #® 1440
2. % 1540
3. % 1200
4. % 1800

Question Number : 81 Question Id : 97675525339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3630 + ExiJr E—E
7 22 11 22
B A T 82
Options :
1. % 1440
2.9 1540
3. % 1200

4. % 1800

Question Number : 82 Question Id : 97675525340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 -1

If K =5+ 26, then what is the value of (K)2 +(K)Z 2



Options :

- 243

s % V2

4 % 2V2

Question Number : 82 Question Id : 97675525340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
1 -1
afg K=5+2V6 & @ (K)2+(K)? & &A= F37 872
Options :
L& \3

- 243
;% V2

4 % 2V2

Question Number : 83 Question Id : 97675525341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If 41 = 256 and (256)™ ™ = 4, then what is the value of n?
Options :

1. ¥ 15/8

2. % 17/8

3. % 19/8

4. % 15/4

Question Number : 83 Question Id : 97675525341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 4m™n = 256 TYUT (256)™ " = 4 B, A n BT A T 82
Options :

1. ¥ 15/8

2. % 17/8

3. % 19/8

4. % 15/4

Question Number : 84 Question Id : 97675525342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Least Common Multiple of (2/3). (8/9), (16/9) and (10/27)is (80/3).

IL +f13 — /11 < /B —~/6.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II



Question Number : 84 Question Id : 97675525342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frrafoiaa & @ &7 a1 FuT war

L (2/3).(8/9), (16/9) T (10/27)FT TeaH FHATIGY (80/3) 1
L /13 - V11 <8 - 6.

Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % GBI

Question Number : 85 Question Id : 97675525343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P is that greatest number which when divides 1947 and 2543 leaves remainder 3 and 5 respectively, then what is the sum of digits of P?
Options :

1.¥9

2. % 8

3.% 7

4, % 5

Question Number : 85 Question Id : 97675525343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i p I8 T TS! TWAT 8 SIl 1947 TUT 2543 P TIHITT HRb HHI: 3 TUT 5 AYHA St 8, I P & 3fchl BT I T 82

Options :
1.¥9
2. % 8




3.% 7
4. %5

Question Number : 86 Question Id : 97675525344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After giving a discount of 32 percent a cycle is sold for Rs. 24480. What is the marked price of the cycle?
Options :

1. ¥ Rs. 36000

2. # Rs. 35000

3. ¥ Rs. 30000

4. # Rs. 32000

Question Number : 86 Question Id : 97675525344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 UTIRIT &1 B o & YT TP ATSihdl B 24480 U T T STl & | A1RTohd BT ifovd T 1 52
Options :

1. ¥ 36000 ST

2. % 35000 0

3. % 30000 3T

4. % 32000 $9

Question Number : 87 Question Id : 97675525345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After two successive discounts of 20 percent and 5 percent an article is sold for Rs. 14440. What is the marked price of the article?
Options :

1. ¥ Rs. 19000

2. % Rs. 20000

3. #® Rs. 25000



4. * Rs. 15000

Question Number : 87 Question Id : 97675525345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 FIRIA U7 5 U=Td Bt & HiHd e & a6 Uh %] Bl 14440 UL T 5T o1l g | G BT 3ifovd T 1 82
Options :

1. ¥ 19000 TG

2. % 20000 ST
3. % 25000 ST
4. % 15000 3T

Question Number : 88 Question Id : 97675525346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct order of discount?
I. Marked price = 4200, Selling price = 3675

II. Marked price = 3900, Selling price = 3315

II1. Marked price = 3400, Selling price = 2975

Options :

1LY II>1=1
2. % 1I>111>1
3.5 MI=11>1
4. % [I=1>111

Question Number : 88 Question Id : 97675525346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAaffiad & @ &1 91 ge &1 98l HH g2
1. Sifdrd Hed = 4200, fashd G = 3675
11. 3ifdhd eI = 3900, fashd T4 = 3315
111. 3iford Je = 3400, fachd T = 2975



Options :

.Y II>1=1
2. % I>11>1
3.8 I=111>1
4. % [I=1>1II

Question Number : 89 Question Id : 97675525347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
L. If selling price : marked price = 3 : 4 and cost price : marked price = 5 : 7, then profit is 5 percent.
II. If selling price : cost price =9 : 7 and selling price : marked price = 5 : 7, then mark up is 80 percent.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 89 Question Id : 97675525347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofifad # § o 1 By 98 32

1. OfC fapa 4o : sifhd Qod =3 : 4 U T 0 - Sifpd G =5: 78, A ATH 5 A=A 7

11. 9 fasha 9eg : 0 ged = 9 : 7 94T fasha 0 : 3ifohd Yo = 5 : 7 8, O AT 3T 80 Wfa=ra 7|
Options :

1. % Had I
2. % HAd Il
3. QYT ISl
4. % qEIIATE I

Question Number : 90 Question Id : 97675525348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If 45 percent of a number is 360, then what is that number which is 20 percent more than this number?
Options :

1. # 950

2. % 970

3. ¥ 960

4. * 980

Question Number : 90 Question Id : 97675525348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe; T TBAT BT 45 UFIRI, 360 §, 1 I8 TS T & Sl 39 T H 20 UFIRTT e 52
Options :

1. % 950

2. % 970

3. ¥ 960

4. % 980

Question Number : 91 Question Id : 97675525349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election between 2 candidates, Rahul gets 60 percent votes of the total valid votes. If total votes are 32000 and 25 percent of the total votes
are declared invalid, then other candidate Mohan will get how much valid votes?

Options :
1. % 9200
2. % 9600
3. % 9400
4. % 9800

Question Number : 91 Question Id : 97675525349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2 IHIGAR! & o9 gU T G H, gd I $d A Jdl o 60 Ufa=1d Ad fHed § | afd d Td 32000 & T4 Hd Tl & 25 Ufa=id &
AT TN ot ST €, o gk SHIGAR Hig &I fovan A1y Ad e

Options :

1. % 9200

2. ¢ 9600

3. % 9400

4. % 9800

Question Number : 92 Question Id : 97675525350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B is 30 percent less than A. C is 50 percent more than B. D is 80 percent more than C. If D is 28350, then what is the value of A + B?
Options :

1. # 22500

2. % 20500

3. % 23500

4. % 25500

Question Number : 92 Question Id : 97675525350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B, A ¥ 30 MARIA A G| C, B ¥ 50 U= 34T g1 D, C F 80 UfA=Id 31fd g1 39S D, 28350 5, A A + B & HH R 2
Options :

1. % 22500

2. % 20500

3. % 23500

4. ¥ 25500

Question Number : 93 Question Id : 97675525351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The length, breadth and height of a cuboid are in the ratio of 6 : 5 : 3. The length, breadth and height are increased by 20 percent, 20 percent and



20 percent respectively. What will be the percentage increase in the total surface area of the cuboid?
Options :

1. % 60 percent

2. # 72.8 percent

3. % 40 percent

4. ¥ 44 percent

Question Number : 93 Question Id : 97675525351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS G-TH B AaTs, ASTs aul $dls BT UM 6 : 5 : 3 8| TETS, TSTs aUl SaTs B HH: 20 TR, 20 UfI=Id quT 20 Uid=id ¥ dgr@n
ST 8 1 BFTY & %l YSIT & H forda ufawrd &t gfg g

Options :

1. % 60 Ufc=rd

2. % 72 8 Yfa=rd

3. % 40 gfard

4. ¢ 44 gfa=Id

Question Number : 94 Question Id : 97675525352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is sold for Rs. 2100 at a loss of 30 percent. If the artice is sold at a profit of 25 percent, then what will be the selling Price of the
article?

Options :

1. ¥ Rs. 3750
2. % Rs. 3550
3. ¥ Rs. 3500
4. # Rs. 2500

Question Number : 94 Question Id : 97675525352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TP %] 30 UFA=Id &1 81 WR 2100 ¥UA & o SI1clt 8| Ife I BT 25 UFA=RIG o 1Y TR ST STl 6, af 9% BT [dshd T T GRIT?
Options :

1. ¥ 3750 300

2. % 3550 300

3. % 3500 39U

4. % 2500 3T

Question Number : 95 Question Id : 97675525353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. When loss is calculated on selling price, it is 20 percent. If it is calculated on cost price, then it will be 25 percent.
II. When profit is calculated on selling price, it is 25 percent. If it is calculated on cost price, then it will be 33.33 percent.

Options :

1. % Only I

2.% Only II

3. % Both IandII
4. ¥ Neither I nor II

Question Number : 95 Question Id : 97675525353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o O Hu I8t 82

%f?’%ﬁﬁ gRehra fashd Jed WR forar STt €, Y I8 20 Ufawrd gia1 8| afe 39T uRerad % Jed WR fordr ST 8, Y I8 25 ufawa
|

%.THGHETHW g faohd Jed IR T ST 8, A1 I8 25 Uia=id gidT 8 | afe 39! URebe o Jed WR a1 SIrar &, f I8 33.33 Ufa=d
|

Options :

1. % Had 1
2. ¥ Had Il
3. % [qQUT I gFl
4. % GBI




Question Number : 96 Question Id : 97675525354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person sells three articles at the rate of Rs. 4200 each. He sells the first article at a profit of 20 percent, sells the second article at a loss of 12.5
percent and sells the third article at a profit of 50 percent. What is the sum of the cost price of all the three articles?

Options :

1. % Rs. 10000
2. # Rs. 14400
3. ¥ Rs. 12000
4. ¥ Rs. 11100

Question Number : 96 Question Id : 97675525354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e i aegall DI 4200 T 0 Ul B &R J 99T 5] I8 Ul a¥g ! 20 U= & ATH TR, GERI a¥d B1 12.5 Uia=Id &1 g1+ IR 9l
g YT IR a%g BT 50 WA & A TR ST | A a3 & o Yo T IR T 72

Options :

1. % 10000 3T
2. % 14400 30
3. % 12000 300
4. 11100 39T

Question Number : 97 Question Id : 97675525355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The angles of a triangle are in the ratio 6 : 5 : 7. What is the largest angle of the triangle?
Options :

1.¥70°

2. % 90°

3. % 607

4. % 95°



Question Number : 97 Question Id : 97675525355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AYT F DI 6: 5: 7% IAd H & | Y HT TG T1 B0 1 52
Options :

1.¥70°

2. % 90

3. % 60

4. % 95°

Question Number : 98 Question Id : 97675525356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two numbers G and H is 6 : 5. If G and H both are increased by 8, then the ratio of G and H becomes 8 : 7. What is the initial value
of H?

Options :
1. ¥ 20
2. % 24
3. % 16
4. % 25

Question Number : 98 Question Id : 97675525356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G YT H &1 T3 &1 30T 6 : 5 81 A G TUTH G 1 8 J IGTAT ST, A1 G TUT H T U 8 : 7 8 Ol § | H BT R 71 1 82
Options :

1. ¥ 20

2. % 24

3. % 16

4. % 25



Question Number : 99 Question Id : 97675525357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y and Z invested Rs. 10000, Rs. 14000 and Rs. 18000 respectively in a business. They invested the money for 4, 3 and 2 years respectively. If
the total profit is Rs. 59000, then what is the share of Y in the profit?

Options :

1. ¥ Rs. 21000
2. % Rs. 20000
3. ¥ Rs. 16000
4. % Rs. 10000

Question Number : 99 Question Id : 97675525357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y YT Z 3 T a9 H HH: 10000 TG, 14000 TYT TUT 18000 TUT AR fhT| I5IN U HHT: 4, 3 TUT 2 9 & forw o= fvw| afe
Hd AT 59000 SUT B, A MU T Y &7 fgwa faramn g2

Options :

1. ¢ 21000 3T
2. % 20000 3T
3. % 16000 3T
4. % 10000 3T

Question Number : 100 Question Id : 97675525358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are one rupee, two rupees, five rupees and ten rupees coins in a bag in the ratio 20 : 24 : 12 : 15. If number of five rupee coins are 60 less
than the number of two rupee coins, then what is the total amount in the bag?

Options :

1. % Rs. 950
2. % Rs. 710
3. % Rs. 1110



4. % Rs. 1390

Question Number : 100 Question Id : 97675525358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP 97 & U 30T, &1 303, Ui 300 a1 &8 ST o Ridds 20: 24 : 12 : 15 & UM | 5 | Afe UFa 300 & Ryadl &1 &1l 308 &
el § 60 FH B, to 9T H F Y-RIR |2

Options :
1. % 950 ¥W
2. % 710 °9
3. % 1110398
4.+ 1390 T
Arithmetic Ability2
Group Number : 6
Group Id : 976755937
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 9767551367
Section Number : 1
Section type : Online
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Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551596
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675525359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the ratio of compound interest(compounding annually) and simple interest obtained on a certain sum of money at the rate of 25 percent
per annum for 2 years?

Options :
1.% 7:6
2.% 3:2
3.%5:4
4.9 9:8

Question Number : 101 Question Id : 97675525359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 a4 & o 25 Tfara ufd 9 &1 @} & U [ i1 IR UTe {2 7Y ahg g oot (aTfies TaToi UR) SfR TeROT STl &1 SUTd o g2
Options :

I.% 7:6

2.% 3:2

3.%5:4

4.49:8

Question Number : 102 Question Id : 97675525360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money amounts to Rs. 24040.8 in 3 years at compound interest (compounding annually). If the rate of interest is 5 percent for the first
year, 6 percent for second year and 8 percent for the third year, then what is that sum of money?



Options :

1. % Rs. 10000
2. % Rs. 15000
3. ¥ Rs. 20000
4. % Rs. 22000

Question Number : 102 Question Id : 97675525360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YR Tehdgies ST (AT TS OR) TR 3 a8 H 24040.8 ¥ B STl 5 | TG ST BT & Ugdl I8 o 17T 5 UTeI=Td, GOR I8 o a4 6
qﬁmaaﬁ??ﬂﬂifa'ﬁsmsuﬁma% I8 AR T B2

Options :

1. % 10000 3T
2. % 15000 3T
3. ¢ 20000 $TY
4. % 22000 3T

Question Number : 103 Question Id : 97675525361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sanjay deposited a sum of Rs. 25000 in two parts at simple interest in two different banks at the rate of 10 percent per annum and 12 percent per
annum respectively. In one year he got Rs. 2750 as the total interest. What was the amount deposited at the rate of 12 percent per annum?

Options :

1. % Rs. 15000
2. % Rs. 10000
3. ¥ Rs. 12500
4. % Rs. 14000

Question Number : 103 Question Id : 97675525361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IO = 25000 TUYY B Teh A &1 HRT H JTLYRUT ST TR Gl S-St & HHT: 10 Ufdas ufawra 3R 12 ufawrd ufdas &1 a3 I S




DI TP TY H I 2750 T0Y H TS b & U H U U1 12 UFa=rd Ufday &t ax IR 5|7 &1 1t iR o g2
Options :

1. % 15000 30

2. % 10000 3T

3. ¢ 12500 39T

4. % 14000 3T

Question Number : 104 Question Id : 97675525362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P covers a distance of 650 km in x hours. If P increases his speed by 30 percent, then what will be the distance covered by him in the same time?
Options :

1. ¥ 845 km

2. % 925 km

3. % 875 km

4. % 755 km

Question Number : 104 Question Id : 97675525362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, x ©¢ H 650 fp 1. 1 g8 Tg vt 31 TS P 39 71 @Y 30 =T ¥ ¢ < 8, d IHH IHy H 9P gRT fha-l g3l 99 &1 Sie?
Options :

1. ¢ 845 b T,

2. % 925 fop T,

3. % 875 fob M.

4. % 755 b o,

Question Number : 105 Question Id : 97675525363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q covers three distances of 20 km, 40 km and 80 km with the speed of 20 km/hr, 40 km/hr and 40 km/hr respectively. What is the average speed
of Q for the whole journey?



Options :

1. # 38 km/hr
2. % 30 km/hr
3. % 35 km/hr
4. % 36 km/hr

Question Number : 105 Question Id : 97675525363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q, 20 {7, 40 for =it qur 80 f5. 7. @Y 71 Rt swo=r: 20 5.1 &ieT, 40 fob 1t /eie @ 40 f5 1 AT 1 1fa O T AT | qui A= &
forg Q @Y Siird Tifd FT g2

Options :

1. % 38 foo ot eieT
2. % 30 fop 1t /eer
3. ¢ 35 o Hl/der
4. % 36 fop 4t /e

Question Number : 106 Question Id : 97675525364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. A train can cross a 800 metre long platform in 70 seconds. If the length of train is 600 metres, then it can cross a stationary pole in 30 seconds.
II. A man cover 250 metres in 100 seconds. His speed is 18 km/hr.

III. A and B are 200 km apart. Speed of A is 15 km/hr and speed of B is 25 km/hr. If they start moving towards each other at same time, then they
meet after 5 hours.

Options :

1. ® Tand II

2. % Tand III

3. % Il and III
4. % T 1 and IIT

Question Number : 106 Question Id : 97675525364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafea § § o a1 sy I8 82

1. U YTATIST, Th 800 HieX T WehTH &l 70 YHUS H UR R bt ¢ | Tl YIS B wals 600 Hier 8, oY 98 Teb fRR WH &Y 30
JHUS H UR B Jhdl o

11. U fT 250 HIex Bl 100 YHUS H o Bl g | 31 T 18 fop 7Y /Hier g1

II1. A TUT B 200 fob. 1. BTG R G| A DI 15 o /2T § quU1 B &1 71fd 25 fob 1t /efeT B 1 afd o IHH 990 R Uh-gak 1 3R ol
YE A @, d1 98 5 °e # e &

Options :

1. #* I dUTII

2.% 1 dUTIII

3. % [T dUTIII

4. % LI dYT I

Question Number : 107 Question Id : 97675525365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pipe can fill a tank in 22 minutes. What fraction of the tank will get filled in 2 minutes?
Options :

1. % 1/22

2.9 1/11

3. % 1/6

4. % 1/5

Question Number : 107 Question Id : 97675525365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U% UI3Y U ¢ Bl 22 e § wR qopdn g) 2 e # & &1 favd=m UIT 4R Seem?
Options :

1. * 1/22

2.¥ 1/11

3. % 1/6



4. % 1/5

Question Number : 108 Question Id : 97675525366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pipe can fill a tank in 45 hours and another pipe can empty the same tank in 15 hours. If both the pipes are opened, then in how much time this
tank will be emptied?

Options :
1
11— hours
4
1. ®
1
23 hours
2. ® 2
1
22— hours
3. ¢ 2
1
12— hours
4, % 2

Question Number : 108 Question Id : 97675525366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UT3Y 45 °¢ T Th ¢ WR Il § 3R GERT UTSY 15 °e T S ¢ &) WTell o Gohdll ¢ | TG qIH1 U1gd @id 4T 9ITd §, ) I8 ¢ foham
A § el g1 ST

Options :



1. = 4
1 .
23- ©¢
2
2. ®
1 :
22 €T
3. % -
1
12- €T
4. % %

Question Number : 109 Question Id : 97675525367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes A and B can fill a tank alone in 18 and 45 minutes respectively. Both pipes are opened together but after 4 minutes the pipe A is turned
off. In how much time the tank will get filled?

Options :

1. # 110/7 minutes
2. % 35 minutes

3. % 30 minutes

4. % 110/3 minutes

Question Number : 109 Question Id : 97675525367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 UIRY A 3R B HH: 18 3R 45 e § U%h b &) 3ha WX Johd g | Gl UTSU U 1Y Wi faU STd § afds 4 fiFe ugnd urigu A s
PR AT S 81 T o Iva & R STw

Options :

1. % 110/7 fiFC
2. ¢ 35fAce
3. % 30 e
4. % 1103 e

Question Number : 110 Question Id : 97675525368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A started a work alone and after working for 2 days he left the work. Now, B finished the remaining work in 7 days. If A had left the work 3 days
after the start, then B would have finished the remaining work in 5 days. In how many days B alone can finish the whole work?

Options :

1. # 5 days
2. # 22 days
3. # 13 days
4. ¥ 11 days

Question Number : 110 Question Id : 97675525368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A7 3 U BT & [haT 3R 2 a7 S o34 & UyTd 39 &1 818 31| 3@, B A IV S 7 foi § g = fean afg A =
B & 3 o7 uyrd srf Srer gan, @ B A AW B 5 fai # gH R fear giani B &&odlﬂ?{ﬁﬁ%ﬁﬁ?ﬁﬁwmmﬂwdlg

Options :

1. % sfaq
2. % 22 feq
3. % 13feq
4.+ 1113




Question Number : 111 Question Id : 97675525369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cone of height 18 cm and radius of base 8 cm is melted to form a solid cylinder of radius 7 cm and height 6 cm. What approximate
percentage of material is wasted?

Options :

1. % 32.11 percent
2. % 21.22 percent
3. % 23.44 percent
4. % 28.66 percent

Question Number : 111 Question Id : 97675525369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH oI ISP o Sars 18 .11, TuT 3R Pt o 8 9.1t ], &1 fUaare: te 7 9.4, Bar aut 6 9.11. S a1e U 319 Sa 9911
T § | ST fobae wfard uerd oo ganm g

Options :

1. % 32.11 gfa=rd
2. % 2122 yfa=rd
3. ¢ 23 44 Yfa=Id
4. % 28.66 UfdId

Question Number : 112 Question Id : 97675525370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Total surface area of a cuboid is 700 cm? and the length of longest rod that can be placed in cuboid is
5421 cm. If length of cuboid is 20 cm. then the sum of breadth and height is 15 cm.

IT. Radius of the base of a cone is 9 cm. If the height of cone is 5 cm more than the radius, then volume of
cone is 1188 cm’.



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 112 Question Id : 97675525370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i@ & @ #i9 O ST T8 &2

L UF ©TST &1 Fof ToOIF &TFer 700 WA R uarsy § W A I Tew o 5w #
aFars 521 RN 71 I wems fr wFw 20 @A Y e qur FEd @ v 15 @

Il Tk 9% & HUR #F BFear o gl g1 afigas & = Bear @ saA wfow gar ug

T 3TaTT 1188 WA 81
Options :
1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 113 Question Id : 97675525371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Volume of a solid hollow sphere is 33957 cm?. If the radius of inner sphere is half of the radius of outer sphere, then the volume of the hollow
space is 4851 cm?.

11. Volume of a cube is 3375 cm?. Length, breadth and height of cuboid are 10 cm, 5 cm and 10 cm respectively. The length of longest rod that
can be placed in cuboid is 3 cm more than side of cube.

Options :



1. % Only I

2. % Only II

3. ¥ BothIandII
4. #® Neither I nor II

Question Number : 113 Question Id : 97675525371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ $Had |
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Question Number : 114 Question Id : 97675525372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Two cones have their heights in the ratio 1 : 3 and the radii of their bases in the ratio 3 : 1. The ratio of their volume is 3 : 1.
II. A sector of 120 degrees, cut out from a circle, has an area of 66/7 sqcm. The radius of circle is 3 cm.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 114 Question Id : 97675525372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had 11

3. ¢ 1Y I gAY

4. % A IAE I

Question Number : 115 Question Id : 97675525373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of trucks purchased by a company in 7 consecutive years.

Years | Number of Trucks
Y1 143
Y 237
X 138
Y4 129
X 144
Y6 96
Y7 108
What is the ratio of number of trucks purchased in Y6 to the number of trucks purchased in Y3?
Options :
1. % 23:16
2. % 18:25

3.9 16:23



4. % 25:18

Question Number : 115 Question Id : 97675525373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 23:16
2. % 18:25
3.9 16:23
4. % 25:18

Question Number : 116 Question Id : 97675525374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of schools in two states in five consecutive years.



Number of schools
YeAs TSt 1 | State 2
Y1 29 33
Y2 56 48
Y3 32 94
Y4 11 46
Y5 34 58

Which of the following is correct about the number of schools in state 1 in the given years?
Options :

. % Y4<Y3<Y2<Y5

2. % Y4<Y5<Y3<Y2

3.% Y1 <Y4<Y3<YS5

4. ¥ Y4<Y1<Y5<Y2

Question Number : 116 Question Id : 97675525374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y4<Y3<Y2<YS5
2. % Y4<Y5<Y3<Y2
3.% Y1 <Y4<Y3<YS5
4. ¥ Y4<Y1<Y5<Y2

Question Number : 117 Question Id : 97675525375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows the number of runs conceded and number of wickets taken by a bowler in five series. Bowling average = Number
of runs conceded by a bowler/Number of wickets taken by a bowler

Series | Number of runs | Number of wickets
S1 163 12
52 208 S
S3 144 10
S4 96 5
S5 309 16

Which of the following statement is correct?



I. Sum of bowling average in S3 and S5 is 33.7125
II. Bowling average in S2, S1 and S4 each is less than 18

Options :

1. % Only I

2. % Only II

3. # Both I and II
4. ® Neither I nor II

Question Number : 117 Question Id : 97675525375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ $had |

2. % Had Il

3. % [ QYT gHl
4. % I IAB I

Question Number : 118 Question Id : 97675525376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of males living in two societies in 6 consecutive years.



Number of males
Years Society 1 | Society 2

Y1 114 182
Y2 96 104
Y3 82 36

Y4 128 242
Y5 115 118
Y6 238 64

Which of the following statement is incorrect?

Options :

1. % Total number of males living in society 1 in Y3 and Y4 are 32 less than the number of males living in society 2 in Y4
2. # Number of males living in society 1 in Y2 are 50 percent more than the number of males living in society 2 in Y6

3. % Total number of males living in society 2 in the given years are 786

4. ® Ratio of number of males in society 2 in Y4 to the number of males in society 1 in Y2 is 121 : 48

Question Number : 118 Question Id : 97675525376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 119 Question Id : 97675525377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the quantity of water bottles sold by 5 shopkeepers in a day.



250
200
150 - 140
100 4 75
50 - 30

225

180

What is the average quantity of water bottles sold per shopkeeper?
Options :
1. % 125
2.9 130
3. % 140
4. % 155

Question Number : 119 Question Id : 97675525377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 125
2. v 130
3. % 140
4. % 155

Question Number : 120 Question Id : 97675525378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of bikes and number of cars purchased in 6 consecutive years.



O Cars mBike
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Which of the following statement is correct?
I. Number of bikes purchased in atleast two years are less than the average number of bikes purchased per year

II. If number of bikes purchased in Y7 are 20 percent more than the number of cars purchased in Y2, then the number of bikes purchased in Y7
are 120

Options :

1. ¥ Only 1

2. % Only II

3. # Both I and II
4. ® Neither I nor II

Question Number : 120 Question Id : 97675525378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I

2. % Had Il

3. % [ QYT gHl

4. % I IAB I
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Question Number : 121 Question Id : 97675525379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
When terminating an appointment, (1)/you should gave a (2)/notice well in advance (3)/.No error (4)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 121 Question Id : 97675525379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
When terminating an appointment, (1)/you should gave a (2)/notice well in advance (3)/.No error (4)

Options :
1. %1
2.¥2



3. %3
4. % 4

Question Number : 122 Question Id : 97675525380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Neither Mahesh nor his siblings (1)/is ready for (2)/the silver jubilee function (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 122 Question Id : 97675525380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Neither Mahesh nor his siblings (1)/is ready for (2)/the silver jubilee function (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 123 Question Id : 97675525381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
It is better to dedicate (1)/few time and write (2)/this mail by yourself (3)/.No error (4)

Options :
1. %1
2.9 2



3. % 3
4. % 4

Question Number : 123 Question Id : 97675525381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
It is better to dedicate (1)/few time and write (2)/this mail by yourself (3)/.No error (4)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 124 Question Id : 97675525382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Blue is strongly associated with nature, (1)/large because it is reflected in (2)/the sky and on bodies of water (3)/.No error (4)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 124 Question Id : 97675525382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Blue is strongly associated with nature, (1)/large because it is reflected in (2)/the sky and on bodies of water (3)/.No error (4)

Options :
1. %1



2.¥2
3. %3
4. % 4

Question Number : 125 Question Id : 97675525383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
While she strolled in the (1)/ park, she came (2)/across a wild dog (3)/.No error (4)

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 125 Question Id : 97675525383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
While she strolled in the (1)/ park, she came (2)/across a wild dog (3)/.No error (4)

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 126 Question Id : 97675525384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
My watch (is least) expensive than your mobile.

Options :

1. # is last



2. ® was lessen
3. % is less

4. ¥ No improvement

Question Number : 126 Question Id : 97675525384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
My watch (is least) expensive than your mobile.

Options :

1. # is last

2. # was lessen
3. % is less

4. ¥ No improvement

Question Number : 127 Question Id : 97675525385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
It would be wise to (forbid him not to order) the fried rice.

Options :

1. % forbid him to order

2. # forbidden him to order
3. # forbade him not to order

4. ¥ No improvement

Question Number : 127 Question Id : 97675525385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
It would be wise to (forbid him not to order) the fried rice.

Options :



1. ¥ forbid him to order
2. * forbidden him to order
3. #* forbade him not to order

4. ¥ No improvement

Question Number : 128 Question Id : 97675525386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
They can always (count on me) for anything.

Options :

1. # count at me

2. % count myself on
3. % count over me

4. ¥ No improvement

Question Number : 128 Question Id : 97675525386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
They can always (count on me) for anything.

Options :

1. # count at me

2. # count myself on
3. % count over me

4. ¥ No improvement

Question Number : 129 Question Id : 97675525387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We have cutting-edge technologies that (makes it possible) to detect pathogens.

Options :



1. ¥ make it possible
2. # made possible
3. ®* makes that possible

4. ¥ No improvement

Question Number : 129 Question Id : 97675525387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We have cutting-edge technologies that (makes it possible) to detect pathogens.

Options :

1. ¥ make it possible

2. # made possible

3. ®* makes that possible

4. ¥ No improvement

Question Number : 130 Question Id : 97675525388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I am ready to accept criticism and (take on heart) if it's constructive.

Options :

1. # took at heart
2. ¥ take it to heart
3. # taking on heart

4. ¥ No improvement

Question Number : 130 Question Id : 97675525388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I am ready to accept criticism and (take on heart) if it's constructive.



Options :

1. # took at heart
2. ¥ take it to heart
3. % taking on heart

4. ¥ No improvement

Question Number : 131 Question Id : 97675525389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
My sister will be in the team next month.

Options :

1. ¥ selected
2. # proposed
3. # connected
4. # finished

Question Number : 131 Question Id : 97675525389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
My sister will be in the team next month.

Options :

1. ¥ selected
2. # proposed
3. # connected
4. # finished

Question Number : 132 Question Id : 97675525390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I have written six poems morning.




Options :
1. # for

2. ¥ since
3. # from

4. # until

Question Number : 132 Question Id : 97675525390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I have written six poems morning.

Options :
1. # for

2. ¥ since
3. # from

4. # until

Question Number : 133 Question Id : 97675525391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The bus will not move the conductor blows the whistle.

Options :
1. ¥ until
2. % still
3. % till

4. # gince

Question Number : 133 Question Id : 97675525391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



The bus will not move the conductor blows the whistle.

Options :
1. % until
2. % still
3. % till

4. * since

Question Number : 134 Question Id : 97675525392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The pile of boxes missing.

Options :
1. ® were
2. % are
3.¥ is

4. % has

Question Number : 134 Question Id : 97675525392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The pile of boxes missing.

Options :
1. ® were
2. % are
3.¥ is

4. % has

Question Number : 135 Question Id : 97675525393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Please make sure they are fine the interiors.

Options :
1. ¥ with
2. % of
3. % to

4. % over

Question Number : 135 Question Id : 97675525393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Please make sure they are fine the interiors.

Options :
1. ¥ with
2. % of
3. % to

4. % over

Question Number : 136 Question Id : 97675525394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Energy conservation

P. or by reducing the

Q. is achievable either by

R. using energy more efficiently

S. amount of service usage

Options :

1. # SQRP
2. ¥ QRPS
3. ¥ PQRS
4. % RPQS



Question Number : 136 Question Id : 97675525394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Energy conservation

P. or by reducing the

Q. is achievable either by

R. using energy more efficiently

S. amount of service usage

Options :

1. # SQRP
2. ¥ QRPS
3. # PQRS
4. % RPQS

Question Number : 137 Question Id : 97675525395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Balanced diet

P. nutrients and minerals that

Q. has all the essential

R. refers to a diet that

S. will keep us healthy

Options :

1. * PSQR
2. % RSQP
3. ¥ RQPS
4. % PSRQ

Question Number : 137 Question Id : 97675525395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.
Balanced diet

P. nutrients and minerals that

Q. has all the essential

R. refers to a diet that

S. will keep us healthy

Options :

1. # PSQR
2. % RSQP
3. ¥ RQPS
4. ¥ PSRQ

Question Number : 138 Question Id : 97675525396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
If the body

P. diseases and even die

Q. people can get deadly

R. loses blood in

S. excessive amounts,

Options :

1. # RSPQ
2. % RQSP
3. ¥ RPSQ
4. ¥ RSQP

Question Number : 138 Question Id : 97675525396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.

If the body

P. diseases and even die
Q. people can get deadly



R. loses blood in
S. excessive amounts,

Options :

1. # RSPQ
2. % RQSP
3. ¥ RPSQ
4. ¥ RSQP

Question Number : 139 Question Id : 97675525397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. The Boston Tea Party took place on the night of December 16, 1773.

Q. Other cities in the colonies cancelled their orders in protest, but the governor of Massachusetts allowed tea to arrive in Boston.
R. In response, several colonists stormed the tea ships and tossed the cargo overboard.

S. The passage of the Tea Act gave the East India Company exclusive rights to transport tea to the colonies.

Options :

1. ¥ PSQR

2. % PQSR

3. ¥ SQRP

4. % SQPR

Question Number : 139 Question Id : 97675525397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. The Boston Tea Party took place on the night of December 16, 1773.

Q. Other cities in the colonies cancelled their orders in protest, but the governor of Massachusetts allowed tea to arrive in Boston.

R. In response, several colonists stormed the tea ships and tossed the cargo overboard.

S. The passage of the Tea Act gave the East India Company exclusive rights to transport tea to the colonies.

Options :

1. ¥ PSQR



2. % PQSR
3. % SQRP
4. % SQPR

Question Number : 140 Question Id : 97675525398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Shield

Options :

1. # Pitch
2. % Howl
3. % Please
4. ¥ Screen

Question Number : 140 Question Id : 97675525398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Shield

Options :
1. # Pitch
2. % Howl
3. % Please
4. ¥ Screen
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Question Number : 141 Question Id : 97675525399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Solemn

Options :

1. * Yelp

2. % Ground
3. % Sober

4. % Harrow

Question Number : 141 Question Id : 97675525399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Solemn

Options :

1. ¥ Yelp

2. # Ground
3. % Sober

4. % Harrow

Question Number : 142 Question Id : 97675525400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Hearten

Options :
1. % Satisfy
2. % Soil
3. # Opinion
4. ¥ Depress

Question Number : 142 Question Id : 97675525400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Hearten

Options :
1. % Satisfy
2. % Soil
3. # Opinion
4. ¥ Depress

Question Number : 143 Question Id : 97675525401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Hesitant

Options :

1. ¥ Firm

2. # Unobtrusive
3. % Diffident

4. % Tentative

Question Number : 143 Question Id : 97675525401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Hesitant

Options :

1. ¥ Firm

2. # Unobtrusive
3. % Diffident

4. % Tentative

Question Number : 144 Question Id : 97675525402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Marrinate

2. ¥ Marinate

3. % Marinnate

4. % Marinatte

Question Number : 144 Question Id : 97675525402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Marrinate

2. ¥ Marinate

3. # Marinnate

4. % Marinatte

Question Number : 145 Question Id : 97675525403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Acordance

2. # Accorrdance

3. % Accordance

4. % Acorrdance

Question Number : 145 Question Id : 97675525403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Acordance

2. # Accorrdance

3. % Accordance

4. % Acorrdance

Question Number : 146 Question Id : 97675525404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. % Annagram

2. % Anagrram

3. ¥ Annaegram

4. ¥ Anagram

Question Number : 146 Question Id : 97675525404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Annagram

2. % Anagrram

3. ¥ Annaegram

4. ¥ Anagram

Question Number : 147 Question Id : 97675525405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Palladium

2. # Paladium

3. # Paledium

4. % Palledium

Question Number : 147 Question Id : 97675525405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Palladium



2. ®* Paladium
3. # Paledium
4. % Palledium

Question Number : 148 Question Id : 97675525406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Off track

Options :

1. # Speaking needlessly
2. ¥ To lose focus

3. % To fall down

4. # Achieving impossible

Question Number : 148 Question Id : 97675525406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Off track

Options :

1. # Speaking needlessly
2. ¥ To lose focus

3. % To fall down

4. # Achieving impossible

Question Number : 149 Question Id : 97675525407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
No love lost between

Options :
1. # Welcoming



2. % Avoiding
3. ¥ Dislike
4. % Egotistical

Question Number : 149 Question Id : 97675525407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
No love lost between

Options :

1. ¥ Welcoming
2. % Avoiding
3. ¥ Dislike

4. % Egotistical

Question Number : 150 Question Id : 97675525408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To cast aspersions

Options :

1. % To talk cautiously

2. ® To run away

3. ¥ To make insulting remark

4. % To share secrets

Question Number : 150 Question Id : 97675525408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To cast aspersions

Options :



1. # To talk cautiously
2. % To run away
3. % To make insulting remark

4. % To share secrets

Question Number : 151 Question Id : 97675525409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Kick the bucket

Options :

1. # To be born

2. # To appreciate

3. % To fail to remember
4. ¥ To die

Question Number : 151 Question Id : 97675525409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Kick the bucket

Options :

1. # To be born

2. # To appreciate

3. % To fail to remember
4. ¥ To die

Question Number : 152 Question Id : 97675525410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is difficult to please

Options :



1. ¥ Fastidious
2. ® Celibate
3. # Egoist

4. ® Hostility

Question Number : 152 Question Id : 97675525410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is difficult to please

Options :

1. ¥ Fastidious
2. ® Celibate
3. # Egoist

4. # Hostility

Question Number : 153 Question Id : 97675525411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is greedy for money

Options :

1. # Imitable
2. % Avaricious
3. % Regal

4. % Epicure

Question Number : 153 Question Id : 97675525411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is greedy for money



Options :

1. # Imitable
2. ¥ Avaricious
3. # Regal

4. ¥ Epicure

Question Number : 154 Question Id : 97675525412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who loves mankind

Options :

1. # Misanthrope
2. % Epicure

3. % Gullible

4. ¥ Philanthropist

Question Number : 154 Question Id : 97675525412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who loves mankind

Options :

1. # Misanthrope
2. % Epicure

3. % Gullible

4. ¥ Philanthropist

Question Number : 155 Question Id : 97675525413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is present everywhere



Options :

1. ¥ Omnipresent
2. % Ambiguous
3. # Credulous
4. % Incredible

Question Number : 155 Question Id : 97675525413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is present everywhere

Options :

1. ¥ Omnipresent
2. % Ambiguous
3. # Credulous
4. % Incredible

Sub-Section Number : 2
Sub-Section Id : 9767551599
Question Shuffling Allowed : Yes

Question Id : 97675525414 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

'Supreme Court of India' came into existence on 26th January, 1950 and is located on Tilak Marg, New Delhi. The Supreme Court of India
functioned from the Parliament House till it moved to the present building. It has a 27.6 meter high dome and a spacious colonnaded verandah.
For a peek inside, you’ll have to obtain a visitor’s pass from the front office.

After its inauguration on January 28, 1950, the Supreme Court commenced its sittings in a part of the Parliament House. The Court moved into
the present building in 1958. The building is shaped to project the image of scales of justice. The Central Wing of the building is the Centre
Beam of the Scales. In 1979, two New Wings - the East Wing and the West Wing - were added to the complex. The Chief Justice's Court is the
largest of the Courts located in the Centre of the Central Wing.

The Supreme Court of India comprises the Chief Justice and 30 other Judges appointed by the President of India. Supreme Court Judges retire
upon attaining the age of 65 years. In order to be appointed as a Judge of the Supreme Court, a person must be a citizen of India and must have
been, for at least five years, a Judge of a High Court or of two or more such Courts in succession, or an Advocate of a High Court or of two or



more such Courts in succession for at least 10 years or he must be, in the opinion of the President, a distinguished jurist. Provisions exist for the
appointment of a Judge of a High Court as an Ad-hoc Judge of the Supreme Court and for retired Judges of the Supreme Court or High Courts to
sit and act as Judges of that Court. The proceedings of the Supreme Court are conducted in English only. Supreme Court Rules, 1966 are framed
under Article 145 of the Constitution to regulate the practice and procedure of the Supreme Court.

Sub questions

Question Number : 156 Question Id : 97675525415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-
Options :

1. # The Law System of India

2. % Judiciary System of India

3. % The Supreme Court of India

4. % Courts of India

Question Number : 157 Question Id : 97675525416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, which article regulates the procedure of Supreme Court?
Options :

1. # Article 154

2. % Article 15

3. % Article 145

4. % Article 146

Question Number : 158 Question Id : 97675525417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the Supreme Court of India function before 1958?
Options :

1. * East Wing of Parliament

2. % President’s House



3. % West Wing of Parliament

4. % Parliament House

Question Number : 159 Question Id : 97675525418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ The proceedings of the Supreme Court are conducted in English only.

2. # The High Court of India comprises the Chief Justice and 30 other Judges appointed by the President of India.
3. % In order to be appointed as a Judge of the Supreme Court, a person need not be a citizen of India.

4. # The building is shaped to project the image of scales of fraternity.

Question Number : 160 Question Id : 97675525419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word ““ad-hoc” is?
Options :

1. # Premeditated

2. ¥ Impromptu

3. # Remediated

4. ¥ Rehearsed

Question Id : 97675525414 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

'Supreme Court of India' came into existence on 26th January, 1950 and is located on Tilak Marg, New Delhi. The Supreme Court of India
functioned from the Parliament House till it moved to the present building. It has a 27.6 meter high dome and a spacious colonnaded verandah.
For a peek inside, you’ll have to obtain a visitor’s pass from the front office.

After its inauguration on January 28, 1950, the Supreme Court commenced its sittings in a part of the Parliament House. The Court moved into
the present building in 1958. The building is shaped to project the image of scales of justice. The Central Wing of the building is the Centre
Beam of the Scales. In 1979, two New Wings - the East Wing and the West Wing - were added to the complex. The Chief Justice's Court is the
largest of the Courts located in the Centre of the Central Wing.



The Supreme Court of India comprises the Chief Justice and 30 other Judges appointed by the President of India. Supreme Court Judges retire
upon attaining the age of 65 years. In order to be appointed as a Judge of the Supreme Court, a person must be a citizen of India and must have
been, for at least five years, a Judge of a High Court or of two or more such Courts in succession, or an Advocate of a High Court or of two or
more such Courts in succession for at least 10 years or he must be, in the opinion of the President, a distinguished jurist. Provisions exist for the
appointment of a Judge of a High Court as an Ad-hoc Judge of the Supreme Court and for retired Judges of the Supreme Court or High Courts to
sit and act as Judges of that Court. The proceedings of the Supreme Court are conducted in English only. Supreme Court Rules, 1966 are framed
under Article 145 of the Constitution to regulate the practice and procedure of the Supreme Court.

Sub questions

Question Number : 156 Question Id : 97675525415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-
Options :

1. # The Law System of India

2. # Judiciary System of India

3. % The Supreme Court of India

4. % Courts of India

Question Number : 157 Question Id : 97675525416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, which article regulates the procedure of Supreme Court?
Options :

1. # Article 154

2. # Article 15

3. % Article 145

4. % Article 146

Question Number : 158 Question Id : 97675525417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where did the Supreme Court of India function before 19587
Options :



1. # East Wing of Parliament
2. # President’s House
3. # West Wing of Parliament

4. ¥ Parliament House

Question Number : 159 Question Id : 97675525418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ The proceedings of the Supreme Court are conducted in English only.

2. # The High Court of India comprises the Chief Justice and 30 other Judges appointed by the President of India.
3. % In order to be appointed as a Judge of the Supreme Court, a person need not be a citizen of India.

4. ® The building is shaped to project the image of scales of fraternity.

Question Number : 160 Question Id : 97675525419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word ““ad-hoc” is?
Options :

1. #® Premeditated

2. % Impromptu

3. # Remediated

4. ® Rehearsed
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Question Number : 161 Question Id : 97675525420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T Tree 7 I fadg BT
SHBI

Options :

1. % O + I
2. Jﬂﬁ?ﬁ+§:f{
3. % 9F + fby
4, % GBI + ST

Question Number : 161 Question Id : 97675525420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fau U Weg &1 T fodg wifomg|
SIHDI

Options :

1. % S + I
2. JW#&‘Q{
3. % O + fbl
4. % SFd! + 37

Question Number : 162 Question Id : 97675525421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad & @ &1 91 U $° BT IR0 8] 82
Options :

1. % PR

2. ¥ PHR

3. % =y

4. % HHH

Question Number : 162 Question Id : 97675525421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafid & 9 &1 91 UM F° BT IS Tl 82
Options :

1. % $OR

2. ¥ PHR

3. % ([

4. % H

Question Number : 163 Question Id : 97675525422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9§ oF 91 faU T e &1 3&16R01 62
3flec

Options :

1. % forg@rae

2. % guildc

3. % dqldc

4. ¥ YdTgc

Question Number : 163 Question Id : 97675525422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 97 fau 7T Uy &1 IR 82
3flec

Options :

1. % forarae
2. # guildc
3. # §-ldc
4. ¥ YRTgC

Question Number : 164 Question Id : 97675525423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77U Wree; &1 qH faug d S|

HUAIIA

Options :

1. % HHA b 9

2. % HHA o [ 794
3. ¢ HHA & GHME T94
4. % U9 8 ol U




Question Number : 164 Question Id : 97675525423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U Yo T IHN 998 J1d BT |

HUAAIA

Options :

1. % HUA & 194

2. % HHA & fod 794
3. ¢ HHA & GHHE 794
4. % O g S HHEA

Question Number : 165 Question Id : 97675525424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafRad # & S 97 Xeg dhsd Tek ol 67
Options :

1. * ISl

2. % §RW

3. % gy

4. ¥ Uq

Question Number : 165 Question Id : 97675525424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfeRad o ¥ IH 91 et dwad Teg ol 62
Options :

1. % ISl

2. % dR9

3. % gY

4.« JJ




Question Number : 166 Question Id : 97675525425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U Yo &t HIGAID T JTd PHITT |
RIER]

Options :

1. ¢ &ffadn
2. % &

3. % &iA

4. % gt

Question Number : 166 Question Id : 97675525425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U Yo &t HIGdS T T BT |
RIER]

Options :
1. ¢ &g
2. % &
3. % &iA
4, % &I

Question Number : 167 Question Id : 97675525426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a1 HRTaRT fhd [T &1 3aT6R0I &, F1d BT
SRAT BT AT HRIA

Options :

1. % UHddH
2. ¢ GIYAEDH
3. % fAeTarEs



4. % fAygars

Question Number : 167 Question Id : 97675525426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fegT a1 HRTaRT fhd [T &1 I3T6R0I &, F1d BT
ST BRI T HRAY

Options :

1. ® YYdrdeh
2. ¢ JdYdrddh
3. % [qSara®
4. % (Aygarae

Question Number : 168 Question Id : 97675525427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRd o ¥ &9 91 TAaRAT o1 3Tl 82
Options :

1. % DA, AT 1 |

2. % N Yy ST TRRA B

3. ¢ TAH S gUeI gax o |

4. % TUTCH T 337 1M et 3|

Question Number : 168 Question Id : 97675525427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed & @ 19 I HATaRIT BT IeTe0 87

Options :

1. % DI, JHar F 3= B
2. % g T el IRRA 5 |

3. ¢ 79 &1 gUST g g



4. % ST T 33T 7Md T 2

Question Number : 169 Question Id : 97675525428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 Y& ad- &1 994 Sifod |
Options :

1. ¢ i@

2. % If&md

3. % Jeiiud

4. % Jalf

Question Number : 169 Question Id : 97675525428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafefed # 9 g a1 =g Bl
Options :

1. ¢ i@

2. % If&md

3. % Jefiud

4. % I

Question Number : 170 Question Id : 97675525429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U wre &1 faaH e JTd BT
AT

Options :

1. ¢ Qe
2. % TR
3. % BN



4. % S[TRHT

Question Number : 170 Question Id : 97675525429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Tsg 1 faH Wsg 1A FifWI
AT

Options :

1. ¢ Qe

2. % 3ATRHT
3. % HIRA
4. % SFIRHAT

Question Number : 171 Question Id : 97675525430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad & I &4 91 fau 7T sg &1 yaigard! =g 52
HAA

Options :
1. % 3Rfdg
2. % Ydad
3. % HfeH
4. ¢ PR

Question Number : 171 Question Id : 97675525430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad o @ I a1 feu U wrse &1 yafard 76 82
HHA

Options :

1. % 3Rfdg



2. ® X[dqd
3. % HfeH
4. PR

Question Number : 172 Question Id : 97675525431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu TTu are & frad =i &t gfd Fifor|
i Tt Hg+d v 39T THd g S|

Options :
1. %= 4]
2. % 3R
3.4l
4. % 918

Question Number : 172 Question Id : 97675525431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 g S
gfe THt Bg-Td d s, 39T THd g S|

Options :
1. % 0
2. % 3R
3.4l
4. % 9Tg

Question Number : 173 Question Id : 97675525432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 77T aTe # e RIM &1 i B |
1Y # e s faeett|




Options :
1. % 3R
2. %
3.¢4°7]

4. % g1

Question Number : 173 Question Id : 97675525432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T oo & Rad ®IF &t gfd Siforg|
g1 § R SR faeet

Options :
1. % 3R
2. %
3.7

4, % gl

Question Number : 174 Question Id : 97675525433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T aToRITR1 & forT Sferd e o1 9 Hifor|
fSrges! TTERTS AT UTE 1 Ul 7 & Hb

Options :

1. ¥ Y

PRI

3. % 3l

4. % Y

Question Number : 174 Question Id : 97675525433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foTu U areaiy & fore I e &1 T Sifvig|
e T8I I1 UTE HT UaT 9 o b

Options :
1. ¥ Y
2. % T
3. % 31T
4. % TERTE

Question Number : 175 Question Id : 97675525434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafed §  &F 91 Weg g e 61 82
Options :

1. % 3I-3fRT = YeT-fgwa

2. % 3HIJ-3{Hd = oId-3{H

3. ¢ T3 = TR BT HTH-TRR BT 37T
4. % 3HF-HY = HAS-g o

Question Number : 175 Question Id : 97675525434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed & 9 o a1 Wee g I8t 761 82
Options :

1. % 309373 = Yol-fgwn

2. % -3 = ol¢l-3H

3. ¢ SITT-3THT = OR BT STH-TRR BT 3471
4. % HIA-3Y = HA-g T

Question Number : 176 Question Id : 97675525435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fau T ree) &1 31k 1 B
RS 99

Options :
1. % 9FT
2. % Hgd
3. % 3
4.« AW

Question Number : 176 Question Id : 97675525435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T ws3) 1 31 1 BT
AFR® 99

Options :
1. % 9y
2. % Hgd
3. % 3
4, ¢ ™Y

Question Number : 177 Question Id : 97675525436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T T GHR [0 HRS & A1 {61 el 52
Options :

1. % B

2. % PO[

3. ® 3UIqH

4.« gD

Question Number : 177 Question Id : 97675525436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TR T YA gHTM fob g R & 1Y foran S 82
Options :

1. % %Y

2. % PO[

3. ® 3UIqH

4.« gD

Question Number : 178 Question Id : 97675525437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 & YddhTdl &1 Ug J1d Biford|
ERGIEIRCIECa R

Options :

1. % AT Yd

2.« QU 4d

3. % T Yd

4, % gy yd

Question Number : 178 Question Id : 97675525437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 71T g1 H YdhTdl BT Vg J1d BT
B RCIEIRG A b

Options :

1. % YR od

2. ¢ ol yg

3. % 3 Hd

4. % iy yd

Question Number : 179 Question Id : 97675525438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafaied o @ ®F a1 Wsg gfcd et 82
Options :

1. % QHAR

2. ¥ YSHA

3. % YT

4, % TfEm

Question Number : 179 Question Id : 97675525438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed & & o 1 eg gfce T el 62
Options :

1. % GHdR

2. ¥ Ygh-

3. % deT

4. % =M

Question Number : 180 Question Id : 97675525439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o ¥ I 91 e TdhaaH 82
Options :

1. % gXdlaR

2. % TRy

3. % B

4. L

Question Number : 180 Question Id : 97675525439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o ¥ I 91 e TdhaeH g2
Options :

1. % gXdlar

2. ® 3RO

3. % B

4. L

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :

General Hindi2

10
976755941
0

120

No

No

0

20

No

General Hindi2

9767551371
1

Online
Mandatory
16

16

20

Yes

1
9767551601



Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675525440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST U a1 T e [T i
O St IS TR W1 §

Options :

1. ¢ 31afd i
2. % gof

3. % RETED
4. % 3(quf

Question Number : 181 Question Id : 97675525440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 1 Ug J1d P
T off IS TR S I

Options :

1. ¢ 319fd geldh
2. % gUf

3. % RREgdS
4. % 3(quf

Question Number : 182 Question Id : 97675525441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T arers 1 gfr I FIfoTT|
G 98 el B S|
Options :

1. ¢ YU H

2. % g q@H



3. % 1ed gab
4. % D Yerh

Question Number : 182 Question Id : 97675525441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T arery &Y giy 1 SIS
G 98 hd IR S|
Options :

1. ¢ YIS

2. % g YaH

3. % q1dl Jad

4. % I gAD

Question Number : 183 Question Id : 97675525442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fraffad # 3 B9 I1 30 &Y BT Iaevl 82
Options :

1. % 79

2. % gH

3. % qEA

4.« I

Question Number : 183 Question Id : 97675525442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 & 91 3 29 &1 310 57
Options :

1. % T4

2. % gH




3. % qEA
4. ¥ 394

Question Number : 184 Question Id : 97675525443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fSU U 910 & UBHR B! UgdH PHIoT |
TR 1 gD 39 G et

Options :

1. ¢ WA

2. % JUdIH
3. % foy

4 ® W

Question Number : 184 Question Id : 97675525443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 910 & UBHR B! Ugd PHioT |
TR 91 AR 39 QR et

Options :

1. ¥ WA

2. % JUdiH]
3. % foy

4. % ¥

Question Number : 185 Question Id : 97675525444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & § ®F 91 Igad a1 &1 3a1evul g2
Options :

1. % SN g IR R g Yoy o e |




2. IR R A G 3R ey o1 T3 |
3. % TG aTdll HTH B |
4. % T RETAGHE o ez

Question Number : 185 Question Id : 97675525444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied & @ &9 91 Igad a1ad &1 3a1evul g2
Options :

1. % SN g IR R A g Yoy o s |

2. ¢ AR Y 3R ey 3715

3. % BTgq ardl H1H IR |

4. % T RETHSHME 9 fea

Question Number : 186 Question Id : 97675525445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou U aR fawedl & 9§, 39 fadmen &1 997 &3 1 fou U geTark & 31 ol Ya9% U § oJad HRdl g |
3{TH & 3MTH Gl & &

Options :

1. % HH DT HA

2. ® T&cl BT YA

3. ¥ QI AIH

4. % DHT I

Question Number : 186 Question Id : 97675525445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweal & ¥, 39 fadmen &1 7997 & S fou U geTak & 31 ol Ia9% U § odad Rl g |
3{TH & 3 3t & &

Options :




1. % 3 T g™
2. % T3dl BT g
3.« Qg ATH

4. % PIHT G

Question Number : 187 Question Id : 97675525446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7T IR fawed & 9, 39 faded o1 w0 3 1t f3T 70 gerer & 31 &1 a9y U § oJad Hral g |
3G BT R BT

Options :

1. % fqddbai- A

2. ¢ YT BRI

3. % g 3

4. % 9 Al

Question Number : 187 Question Id : 97675525446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 8§ 9, 39 fawed &1 99 o S faU T GgTak & 3l &1 Ta98 T ¥ ad HRal 5|
3TE BT R BT

Options :

1. % fqabgl QA

2. ¢ YT B

3. ® Hiq T 3

4. % 9 Al

Question Number : 188 Question Id : 97675525447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trec & g & forg I i 1 = T



Tael & forg ymror S} et
Options :

1. % QY DI Y UM ol Uil HRAT
2. ¢ BIY ST P SRAT T

3. % b D dlc W Pl

4. % TG S U ©f APBTerT

Question Number : 188 Question Id : 97675525447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U T Trsal & IHg & e I didifed &1 ag4 S|
el & fog T SRS e

Options :

1. % Y BT gY UM bl YTt HeAT
2. ¢ BIY HTH P SR AT

3. % b D dlc W Bl

4, % 1 3Tl I oY ApTaT

Question Number : 189 Question Id : 97675525448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U foRmH fIg & IR &1 uga™ SIfvT|
?

Options :

1. % ¢

2. % 7uf for™
3. ¥ JUYdD
4. % faqerur

Question Number : 189 Question Id : 97675525448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feu U formH fag & IR &1 ugaH SIfv|
?

Options :

1. % fdz®

Question Number : 190 Question Id : 97675525449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoferad uy o, fau 70 9R fasedl & 9, 39 fdehed &1 904 B3 Sl f3U 7T gt & 312 1 Y9y U Y o Bl 5|
Trg ft IR S et A e

Options :

1. ¢ o1 811 1| g1 Sy

2. % 31T YD BT HURMA
3. % T[UT o fag AT g

4. % 3URTE GRT &P Dl YHBT

Question Number : 190 Question Id : 97675525449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad uy o, fau 10 aR faswedl & 9, 39 fawed &1 904 B3 Sl f3U 7T gtk & 31 &1 99y U Y o Bl 5|
g ft IR Se ardt W A ge

Options :

1. ¢ {1 1A 18 §1 WT

2. % 31 YD BT HUMEA

3. % TN & faeg A g

4. % URTYT GRT &P DI YHBHI




Question Number : 191 Question Id : 97675525450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 w0 &3 o1t f3T 7T geTer & 31 &1 Jd9§ ¥U § oJad Hral g |
Sl ¢ ¢ BT

Options :

1. ¥ Sgd g gl

2. % PHIY Y 7T

3. % ¢Rar gl

4. % PIYH HAR Sl

Question Number : 191 Question Id : 97675525450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we o, fou 0 oR fawedl & 9, 39 fadmed &1 997 & 1 foU U geTark & 3 ol Ia9% U I oJad HRdl ¢ |
FHeroll b g Bl

Options :

1. ¢ 9gd g9 gl
2. % DIy Y ST

3. % ¢gr e
4. % HIYH HOR ST

Question Number : 192 Question Id : 97675525451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 1 TS W g g o1 o fova i g2
Options :

1. % fqurare sys

2. ¢ U fRm

3. % 31 foRm

4. % 3rcq favmH



Question Number : 192 Question Id : 97675525451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I &1 AT WR {6y forg o1 v far Sirar g2
Options :

1. ® fawrane sys

2.« quf favm

3. % 3fg foRm

4. % 3rcq favmH

Question Number : 193 Question Id : 97675525452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad R T 3T TN IR fawent & 39 fadmen &1 99 & 57 foU U GeTak & 31 o) Y49 =0 J oJad Rl g |
e Ae gfera Teed & fAde o gl T 9 § HAcIRE

Options :

1. % @ | fie
2.« FRRTT qa 3FeRT
3. % MR U IR
4, % A @

Question Number : 193 Question Id : 97675525452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawed! # 39 faswed &1 999 &2 Sl fou T geTak & 3 &) a9y © 0 ¥ ad aidl |
fge 7EM gfera Taed & e o 8l T I § AsIEE

Options :

1. % @i | e
2. RRAT dd 3R
3. % MR Y YR




4. % A @

Question Number : 194 Question Id : 97675525453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpdt 59 siwr &1 G U g & o fea farm g o1 v v sirar 82
Options :

1. % 3cg faRm

2. % DIFD

3. ¢ A4 g

4. % qof for

Question Number : 194 Question Id : 97675525453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordll S 3fR1 1 Wfér Eu g & forg forg formm forg &1 vt fopan Siren &2
Options :

1. ® 31y farvmA

2. % BIFD

3. ¥ qrud fog

4. % Ui foRTH

Question Number : 195 Question Id : 97675525454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed o1 9o 3 o1 f3T 70 HeTer & 31 &1 Jd9§ U ¥ oJad HRal o |
14} BT TP T

Options :

1. % g DR [l DT Y T HAT

2. % gAY AT

3. ¢ bl 9 fordlt TR UidiST 91T =T




4. % §gd HR g

Question Number : 195 Question Id : 97675525454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve ), fou U IR fawedl & ¥, 39 fawen &1 997 &3 7 fou U geTak & 31 ol Ya9% U § oJad Rl g |
91t BT T T

Options :

1. % g9 dDR fhdl &1 HH T Bl

2. % [ AY BT

3. ¢ ool = for il GehR UfcTST SIF1T X&T

4. % §gd 3R G

Sub-Section Number : 2

Sub-Section Id : 9767551602
Question Shuffling Allowed : Yes

Question Id : 97675525455 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS T o T | TR O STYR WR Ui WY T 7Y € | I &1 e9MYdeh U aul U WY & IR faded! & § g faded I |

P & for T TR Y9 81 I8 ATdt TR & YHYdd e U &1 U ATeqH g | 8HR TR T ¢F-417 3R I Uy fAeM S R R &
Tl & o fisrad Ty 8T § <) g Uyl ol B &1 81 | OR U1 d1d, 3fdd Hie dohequl uRfRUfd 3R SR = § 799
- &1 Y BIS Tohd 5, fohg i &1 781 | I gR T T ao H oft foran sige 384 81 48, B9, HUe A H 3iTdT -Tg!, U0l G
firran o1 fFrafe wrar 71 ot & TR T3y oY HiaT 3if¥ies Tedt 81 o & i & g 9 gt 181 81, 3 < I & 981 U e B |
3T Gdd & THM gd ! Yfd1-H 01 o UM gW DI {7 & 4 HUT & THM gd ! JHS Tad & JHH o+, forg aHd 3 8 T gfg o
T8I 8, 98 T B0 PR 1 [op ! O A Rl &2 i &1 4w g o a8 o &1 ¥ AT 9 Ah b 3w ART R ITd | 3 T[0T Tahe e 3R
SEUN P! [SUTT | TF-F & T H o7 A1 I 31U Xfad o SR Tal B &1 fed 81 Bl X | GuRi 3R Sff Wi dl HIAd IR JLR aa-
SIAdl § 3R U1 3ifgd Sl 8 a1 7F H Sieadr Iad g1 8! TS FoTIe! 7 UM &1 91 & 99 <6l §, U4 $IoE &I N H H g1 HaTs o
d 44 &1 fierdT & fayrh =761

Sub questions

Question Number : 196 Question Id : 97675525456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
e i Sruet o o1 fafe & w1 g2
Options :

1. % g Yo qaa|

2. ¢ 30 Y0 i} AT |

3. % 3MUPI ARIB PRb |

4. % i B 3B ¢ THI|

Question Number : 197 Question Id : 97675525457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B9 ¢, 4T 3R Ty &1 3T 99 &1 331 Ihd § |
Options :

1. % 99 gRaR & 94t g HAd 1|

2. % 59 URAR &1 is Yl 9ag 9 M|

3. % U9 YRR § Yed dSTs gl 8l

4. ¢ 99 URAR H GHISRY &1 HIGAT 8|

Question Number : 198 Question Id : 97675525458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR &1 =i 1 Biforg|
Options :

1. ¢ gt fordn

2. % MFF I
3. % UIRATN® g9

4. % gHg &I iz

Question Number : 199 Question Id : 97675525459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A &1 o & fayrdt o 781 8 3 o ifuma g2



Options :

1. % SN A H B9 PHUC T8 IWd & |
2. ¢ N H B9 HUC A & |

3. % M HW Y 3 A 5

4. % S g G 3MUD! 3JTS P |

Question Number : 200 Question Id : 97675525460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o o o & g A gl T 8la S e A
IR 1 TR & YR TR Yol Y|

Options :

1. % St ol 8

2. ¢ §STUY FTdl &

3. % GSIHIY AT

4. % GRS BT T Il §

Question Id : 97675525455 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TP TR fea 7T & | T o SR UR e U T Y & | TR T A U¢ T b U & R e A | Wel fased |
BT & foT TR 9 ] | I8 AaTdt R & JHYde Hgsl U &1 T H199H 8 | §HR TR H ¢4-41 3R Ird Uy AT i R &
H@ﬁ%&%ﬁﬂﬂﬁ%ﬁﬁ%ﬂﬁﬁ%&f%@ﬂmmﬁ|w1ﬂmﬂnw 3fccicl hfo e qul URTRITT 31X S{UR Tl & #7d
-t &1 Y BIS qohd o, fohg i &1 781 | IS gR T W= aob H off B sige 8t 81 4, 39, HUe 7 | 3f1aT 718, I;ITUTQW
el o7 Fovate R B 1 ot 3 OROR T Y T 3ifRies el €1 S AT o 3 g @ ot AT 21, S+ 20 & o) 91T U1 eTelT B
3T dd & THM gd ! YfAI-H 01 o UM gW DI [0 & 4 HUT & THM gd ! JHS Tad & JHH o+, oI TaHd 3§ & U gfg o
Te'E, %@%Waﬂ%@rﬁwaﬂﬁ%mmaﬁ%%agﬁaaﬁaﬁnﬁ@rﬁwa@nﬁwwmd«iorﬂluwopcﬁaﬁ?
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Question Number : 196 Question Id : 97675525456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 197 Question Id : 97675525457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 198 Question Id : 97675525458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 199 Question Id : 97675525459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 200 Question Id : 97675525460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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